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MODEL PAPER (MATHEMATICS) INTER (PART - II)
(BISE BWP) SESSION (2023-25) AND ONWARD (OBJECTIVE)

Time : 30 Minutes Marks : 20 Paper Code No. 8197 |

1

Note : Four possible choices A, B, C,D to each question are given. Which choice is correct fill that circle in |
front of that Question No on the Objective Bubble Sheet. Use Marker or Pen to fill the circles. Cutting or filling
two or more circles will result in Zero Mark in that Question.
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16 | Length of transverse axis of | 3 6 R E [ & T
x3 y‘!- -
I T . ) ‘
17 | For coplanar vectors | © 1 2 3
WU XW= ‘
:]:g____\.!-\‘hi.v—:.h one is vector quantity : | temperature | density | moment | Work done
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‘+) MODEL PAPER (MATHEMATICS) INTER (PART - II)

(BISE BWP) SESSION (2023-25) AND ONWARD ]SUBJECTIVE[

| Time : 2:30Hours | Marks : 80

Note: it is compulsory to attempt any (8 - 8) Parts each from Q.No. 2 and Q.No.3 while attempt any (9) Parts from
Q.No.4. Attempt any (3) Questions from Part - II. Write same Question No. and its Part No. as given in the Question Paper.

Xiii.

(Part-1) 25x2=50
QNo2: i
Draw a graph of f(x) whose limit exists at x = a but f (a) does not exist.
i -25
ii.  Evaluate hm
(7-":}
iil.  Evaluate hm =
x-0
iv.  Differentiate sin®x w.r.t (x + 1)%.
d
v. Prove thata(fix) =3%n3.
vi.  Whatisthe difference between dy and §y.
. = 2
viil.  Prove that — Tan byt e Hi‘
viiil.  For what value of h, Tailors series becomes a Maclaurin series,
ix.  Define convex function with example.
x.  Explain vertical line test in your words.
xi.  What is the difference between feasible region and solution regiomwith graphicat example?
xil.  Graph the solution regionof x + y < 0 0
Q.No. 3 ()
y+1 *
Evaluate j‘{;( dx O
4 >
'| x+2
| . “valuate dx
! i, Ev I X+3 * &\
i Evaluate [2nxdx Q
.  Fvaluate Je*(cosx +sinx )dx
L X
V. : 3 i
vi,
vii
wviii
. Find the ang!®between the fincs represented by »*+2xyseccr+y*=0
% is (1,5) at a distance of 15 units from the origin?
xf: find an equation of a line through (- 8, 5) having slope undefined.
li Xii ¢ind the distance of the point P(6, — 1) from the
|
i Q.No. 4
| - . - . .
! i How can you find the slope ot a line given two points on the line?
. i The points (=5,—2) & (5, —4) are ends of a diameter of a circle . Find the radius
and centre of the circle.
i.  How can you define the altitude of trigngle
iv. ind an equation of line having® - intercep® =9 and slopes—4
v How can define angle between two parallel lines
: _ : 1 .
i Find the measure of angle:x? + 2xy seca+y* =
vii Find the distance and mid point of A(3,1) & B(-2,-4) .
vil.  Find the equation of the circle whose ends of a diameter are at A(-3,2) and B(5, —6)
_ ix. Make a systematic diagram if P{x,y)beany point on thecircle with centre at origin
I .];"_ﬁi["{'!?‘.‘tlﬂ‘lill‘.g B
% " Write the general form of equation of circle.Givean eaxample.
| . ; : § ST T T >
i, Find an equation of tangent tocirclex™ + y== 25at(4,3)and make a sketch.
| xii brove that normal lines of a circle passes through the centre of the circle .

‘ 3
Find eq. of ellipse if vertices (0, £5), ecentricty = 3 P.T.O
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(Part-11) 3x10=30

2x+1

— , x > 1. Then verify that J'“(If“"(x)]-_»f"(f{x)):x (5

Q.No.s (@) If f{x)=

(v)  If x=acos’ 6 and y=bsin® 6, show that a% +htanf =0

J (3
Q.No.b {a) Show that y = _&'ix_ has maximum value at x = ¢ (5)
x
2
{b)  Evaluate J.-—-—~—\-j-——dr (s)
sinx +cosx 8

Q.No.7 {a)  Evaluate J"“___,_S_E‘j_‘?___ d8

U ; ’ ¢ sind+cosé 5)

(b)  Graph the feasible region ¢f the following system of linear

' alities. Also find
corner points,

x4 3y glE,

lr+y 510, 0
x+4y €12,

xz0, 0

y20 * (5)
Q.No.8 (a) Write an equation of the circle passing h the points
A(4,5), B(-4,-3), C(8,-3)

(5)
(b)  Inany A ABL prcvc gla
a ——
Sind  SinB 'i'ur(." x (5)
Q.Nc.9 {a) Find the equationio ngents to the ellipse ~——-+y" twhich are parallel to

the line ‘ 2x—4p+3=10 {5]

(b f the chord cut off from the line 2x+3y =13 by the circle
5)

e RO ——
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OBJECTIVE

Qif1: Choose one of the multiple options that is correct.

(MS-ACCESS)

i. Which of the following model is more flexible:

a) Network data model
¢) Relational data model

ii. A table must have
a) Primary key
¢) Composite key

b) Hierarchical data model
d) Object data model

b) Secondary key
d) Sort key

iii. In ERD model, the relationship between two entities is represe@&:

a) Diamond symbol
¢) Oval symbol

b) Rectangular box
d) Line

G

iv. In 3NT, a non-key attribute must not depend on a(n); *

a) non-key attribute
¢) composite key

b) key attribute

d) sort key

v. Which of the following object of database& to retrieve data from database?

a) Queries
) Reports

a) H*4
c) H????

(C-LANGUAGE)

vii. .exe file is produ
a) Compiler
¢) Linker

viii. a += b is equivalent to:
a)b+=a
cJa=at+b

b) Forms
d) Tab?&\

vi. 10 find four character name starts wi

, the criteria is specified as:

3

b) Interpreter
d) Loader

b)a=+b
d)b=b+b

ix. The valid equivalent C statement of area = mr’:

a)nxr
c)n*rA2

b)n*r

dyn*r*r

x.  Which of the following in NOT a control structure?

a) Sequence
¢) Repetition

b) Selection
d) Database
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xi. In which loop, semicolon(;) must be placed at end of its syntax?

a) for loop b) while loop
¢) do-while loop d) for-each
xii. Memory is allocated to a local variable at the time of its:
a) declaration b) destruction
¢) definition d) first reference

xiii. Which of the following is true about a function call?
a) Stops the execution of the program
b) Transfer control to the called function
¢) Transfer control to the main function
d) Resumes the execution of the program

xiv. On successfully closing a file, the fclose() returns:
a) NULL b) 0 (zero)
c) 1 (one) d) FILE pointer

xv. Which of the following mode open only an existing file for bothsk¢ading and writing?
a) “w” b) “w+”

C) et d) “a+” ()
(VISUAL BASIC) O N
vii. Identify invalid variable name?
a) _num b) Int %’
¢) 01_num d) num_01 &
viii. a <> b is equivalent to: \
a)a>b b)a

c) NOT(a =b) d) a?bND a>b

ix. The valid equivalent VB sta

a) mxr 214 * I
m*ra2 3.14 *qy*y
x. All of the followi xamples of controls EXCEPT:
a) Label b) Button
¢) TextBox d) Caption

xi. In which loop body run at least once?
a) FOR .. NEXT b) WHILE .. WEND
¢) DO .. LOOP .. WHILE  d) DO .. UNTIL .. LOOP

xii. Which of the following function is used to convert numeric value into string:
a) Val b) IntToStr
) Str d) String

xiii. Which of the following is true about a function call?
a) Stops the execution of the program
b) Transfer control to the called function
¢) Transfer control to the main function
d) Resumes the execution of the program
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xiv. Which event is not related to Label control?

a) Click b) Load
¢) DbIClick d) Change
xv. The Stretch property is related to control:
a) Picture b) Image
c) Form d) Button
SUBJECTIVE
Section-I
MS-ACCESS
2. Write short answers to any SIX (6) questions: (12)

i. Differentiate between data and information.
ii. Define Primary Key.

iti. What is Cardinality?

iv. Describe functional dependency.

v. ldentify candidate keys and select primary key for relation: =~ EMPL D, NAME, CNIC)
vi. What is redundancy?

vii. Write any two data types in MS Access. O

viii. Define wildcards. ()

ix. What is the difference between list box and combo box.

L 2
(C-LANGUAGE) O
3. Write short answers to any SIX (6) questions: @ (12)
i. What is an object code? \
ii. Name two pre-processor directives. ’\

iii. How does a variable declare? Give an exnﬁ
iv. What is an arithmetic underflow?

v. Differentiate between unary and binary ators.
vi. Re-write the following code by usiag cgnditional operator:
if(x>5)
y=3;
else
y=4;
vii. Find any two errors:
int x;
scanf(“%d”, x);
if (x%2=0)

printf(“Pakistan”),

viii. Trace the output:
int num=10;
num *=5;
printf(“%d”, num);

ix. Find the output of the following code segment:

intx=3,vy,z;
y=x=10;
z=x<10;

printf ("x=%d y=%d z=%d",Xx,y,2);
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OR

(VISUAL BASIC)
3. Write short answers to any SIX (6) questions:
i. What is object code?
ii. Define algorithm
iii. How a variable is declared in VB ? Give an example
iv. What is arithmetic underflow?
v. Differentiate between unary and binary operators
vi. What is integrated development environment?
vii. Find any two errors

Public Sub Message_Click( )

printf “Welcome to Islamabad”

I'nd Subroutine
viii. Define properties window in VB.
ix. Write down the general syntax of InputBox() function.

(C-LANGUAGE)

4. Write short answers to any SIX (6) questions: O
i. Define Format specifier. ()

it. List the names of two functions used for character input.

iii. What is logical AND operator? TS

iv. Find any two errors: O

intx=2.5:

switch(x){ &
case X < 5: ¢
case 2.5: &\
} Jox
v. Predict the output:

for (i=1 ; i<= 20 ; i+=2)
printf(“%d”, i);

e you prefer to use do-while loop not while loop?
y using do-while loop

vi. Give an example such
vii. Re-write the followi
for(i=10;i>=0; i

printf(“Pakistan Zindabad”);

viii. Write down a function header statement, that accepts one integer and other decimal point value.
ix. How to declare a pointer variable?
OR

(VISUAL BASIC)
4. Write short answers to any SIX (6) questions:
i.  What are control statements?
ii. Draw the flowchart of if-then statements
iii. How a select case help vou in coding?
iv. Predict the output:

For X=0 to 20 Step 4

print X
Next

| ¥
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v.  Write is the output of the following code segment:
Dim Marks As Integer = 30
If Marks > 40 Then
MsgBox “Pass”
Else
MsgBox “Fail”
End If

vi. Find any two errors:
Dim N As Integer = 1
While N <=5 Do

Print “Hello Friend”
N++
Wend

vii. Re-write the following code by using do-until-loop
Dim N As Integer
For N =1 To 10 Step 2 O

Print “Pakistan Zindabad”

Next < l

viii. What is infinite loop? .
ix. Differentiate between DO..LOOP..WHILE and DU..UN@OP ?

Sectio
(MS-ACCESS) . s\K
Note: Attempt any ONE (1) question.
7. Define ER-Diagram. Explain ER-Diagram \@ elp of an example. (8)
8. Discuss different types of queries in dat% (8)
ection-III
L 2

(C-LANGUAGE)
Note: Attempt any TWO (2) qu
7. Write a C-Language progra

input ages of three persons and display who is youngest? (8)

8. Write a C-Language prog hich prints the following pattern by using loop: (8)
1
3 5
o 7 9
7 9 11 13
9. llow is a function call made in a C-Program ? Discuss with an example (8)

OR
(VISUAL BASIC)
Note: Attempt any TWO (2) questions.
7. Write a Visual Basic program that input ages of three persons and display who is youngest? (8)

8. Write a Visual Basic program which prints the following pattern by using loop: (8)
1
3 5
5 7 9

7 9 11 13
9. How is a function call made in a C-Program ? Discuss with an example (8)
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Paper Code | 2024
Nurmiber: INTERMEDIATE PART-II (12" Class) Roll No:
PHYSICS - PAPER-II MODEL PAPER

TIME ALLOWED: 20 Minutes

OBJECTIVE

MAXIMUM MARKS: 17

' Q.No.1 ' You have four choices for each objective type question as A, B, C and D. The choice which you think is

- correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill the
| bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
S.# QUESTIONS A B 5 D
I | If a charged particle + "¢" of mass "m" is Zero qE/m qEm migk
| projected parallel in an electric field E, the
acceleration:
|
2 | The electric flux through a closed surface Geometry of Charge The medium | BothB& C
enclosing charge +q at its centre depends upon: the surface enclosed by in which
the surface charge is
placed
3 | If no fourth band is present on a carbon resistor, + 5% +10% +20% 0%
the tolerence will: |
4 | In C.R.O to display the given voltage is connect X-plates Y-plates Cathode Anode |
to:
5 | The galvanometer consist of a moving coil BAN/C 1 [K 5; | NAC/B C/BAN i
| galvanometer given by: '
6 | The direction of induced current is determined Ohm law araday’s Lenz's law | Gauss's law
by: law |
) |
7 | For A.C inductor behaves like: a r ] Thermistor Rectifier Resister |
8 | The phase angle between »I)Elgc and current ¢ & degree 45 degree 90 dn;grcc 180 degree
| through resistor in A.C circuit is: \b
] —— ll
9 i! Metal detector consist of: L-C circuit R-C circuit R-L circuit RLC-circuit |
A R _ o
10 | High temperature super conductor a critical 52K 77K ’ 125K 163K
| temperature greater than: i 5
- ! |
11 | In operational amplifier parator when Vo =+Vce Vo =-Vec i Vo=0 | Vo= infinity
i V —>V +, then at thg o we get: '
| N ISR, S — -
12 Il The S.I unit of current gain are: Ampere Gray Ohm No unit
13 i The reverse process of photoelectric effect is: Compton’s Pair Black body X-rays —!
Ir effect production radiation '
14 | Which photon of light has least energy? Green Yellow Blue Red
15 | The shortest wavelength in bracket series has 364 nm 1457 nm 1876 nm infinity
a wavelength: :,
- . |
16 | Co-60, radioactive isotope is the source of: Alpha-rays Beta-rays | Gammarays | Neutrons
17 | The biological effects of radiation are of: Two types Four tvpes Six types Ten tvpes
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INTERMEDIATE PART-II (12" Class) 2024 ' Roll No:
PHYSICS PAPER-II MODEL PAPER
TIME ALLOWED: 2.40 Hours ’ SUBJECTIVE | MAXIMUM MARKS: 68
NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I _ ]
2. Attempi: v eight parts. _ §x2=16 |
(i) | How you can identify that which plate of Lapacuor is positively charged?
:Qi) | How many joules in an electron volt? )
(i) | Write two similarities between electric force and gravitational force? 1
(iv) | Define potential gradient. Write its S.1 unit. '
(v) | Why does the picture on a T.V screen become distorted when a magnet is brought near the screen?
(vi) | When charged particle is projected perpendicular to the magnetic field. How many joules work is done by
magnetic force on the charged particle? |
(vii) |Does a uniform magnetic field affect the K.E of an electron projected perpendicular the uniform magnetic field?
' | Explain. N
| (viii) | If the resistance of Ammeter is high can it measure the accurate value of current? Explain.
ix) | Write down the fission reaction of 235U in which fission fragments produced other than krypton and barium.
(x) | Which factor make a fusion reaction difficult achieve? ) ]
(xi) | What fraction of radioactive decays after four half life elapsed? ]
(xi1) | Describe two methods by which an alpha particle does ionize an atom.
3. Attempt any eight parts. 8§x2=16 !
| (i) | Do bends in a wire affect its electrical resistance? Explain. _ :
(i) | How you will compare the emf’s of the two cells by using potentiometer? |
(i) | Two resistances each of 20 are connected in parallel with the source of emf of 10v. What amount of current will
be supplied each resistance by the source of emf? ‘
' (iv) | Which is better device to limit the current choke and Rheostat why it better? J
(v) | The peak value of alternating voltage is 220V. What is its peak to peak t lue? __J
(vi) | Compare the frequency behaviour in a Resister and capacitorin a A.C C |
| (vii) | Write doping. What is proportion of impurity in the doping process? ]
(viii) | Suppose we have the substance which became super conductor a 25K and 163 K. Which is :
| comparatively more useful? =
(1\;) [ Show that the S.I unit of modules of elasticity and stress an 1c9 |
~(x) | Whatis 0pc1atmnal amplifier? Why it is so called?
(xi) [Ifp=100, 1=10mA, then find the value of then fi ue of 1, in microampere? -
. (xii) | Why we cannot use Silicon for making LED’s? il
4. Attempt any six parts. 6x2=12
(i) | Does the induced emf act to decrease the ma ux through a circuit? Explain j
(i) Write two similarities between motor an
(ii1) | Why split rings used in D.C generato of slip rings? -
| (iv) | On what basis the Self induced ¢ back emf?
(v) | We do not observe a Com ct with visible light. Why? ll
{\-iﬂ Cana particle and anti Midle exist together? If they meet what happen? I
" (vii) | Show that h/moc has dinension of length.
(vii1) | What 1s the difference between spontaneous and stimulated emission?
| p— - —
(ix) " Why does electron exist outside nucleus but not inside the nucleus?
-, o SECTION-II ]
| NOTE: Attempt any three questions. 3 x8=24
5.(a) | State Columba’s law. Derive a mathematica relation which shows Columba’s force obey '
Newton's Third law of motion. 05 |
(b) | A rectangular bar of iron is 4cm by Acm in cross section and 60cm long. Calculate its resistance if the ]
resistivity of iron is 11x 10 * (ohmmeter) 03 .
| 6.(a) | What is transformer? Write its principle and r,o_ristruction. Derive an expression for Vsz=N5r’Np."__OSH—!
. (b) | A power line 15m high carries a current of 300A. Find the magnetic field of the wire at the ground. 03
7.(a) | What is inverting operational amplifier? Derive the mathematical expression for closed loop gain of the i
amplifier. — 05
(b) | Find the value of the current and the Would Inductive Reactance when A.C voltage of 110V
‘ at 60 Hz is passed through an inductor of 10H. 03 ;
8.(a) | What are black body radiations? Discuss the experimental results intensity distribution diagram ]
[ of lummer and pringsheion. 05
| (b) [ A 2cm long copper wire is subjected to stretching force and its length increases by 20cm. 03
[ 9.(a) | What is nuclear fusion? Why this reaction has not been brought under control?
How sun is issuing tremendous amount if energy? 05
(b) | Find the kinetic energy of electron in first Bohr’s orbit. 03 |




CHEMISTRY

NOTE: You have four choices for each objective type question as A, B, C and D. The choice which
you think is correct, fill that circle in front of that question number. Use marker or pen to fill
the Circle. Cutting or filling two or more circles will result in zero mark in that question.
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Model Paper 12" Class - 2024

The elements in periodic table are classified into blocks:

(A) 1 (B) 2
(C) 4 (D)3
ii.  Choose the correct electronic configuration of Ca:
(A) (Ar] 257 (B) [Ar] 4s®
(C) [Ne] 35’ (D) [Ne] 4s
iii.  Tincal is a mineral of:
(A) Aluminium (B) Magnesium
(C) Boron (D) Carbon
iv.  The catalyst used in contact process is:
(A) Fe,03 (B) V205
(C) Ag.0 (D) SO;
v. The Hydrogen bonding is strongest in following
(A) HF (B) HBr
(C) HCI (D) HI
vi.  The total transition elements are: 0
(A) 10 (B) 14
(C) 20 (D) 58 ()
vii.  One of the following is a typical transition element
(A) Co (B) Sc
(Qy (D) Ra Q
viii.  Linear shape is associated with wh:ch oft b% g hybrid orbital:
(A) sp (B) sp \
(C) sp’ (D) dsp? \
ix.  Formula of trichloromethane is: %,
(A) CH5Cl 2
(C) CHCly (D ¢
x. The conversion of n-Hexan benzene is called as:
(A) Aromatization (B) Dealkylation
(C) Rearrangement (D) Isomerization
xi. When CO,is mad t with ethyl magnesium bromide followed by acid hydrolysis
the product formed is:
(A) Acetic acid (B) Formic acid
(C) Propanoic acid (D) Mathanol
xii. Ethanal can be converted into ethanoic acid by:
(A) Hydrogenation (B) Oxidation
(C) Hydration (D) Fermentation
xiii. The hybridization of oxygen atom in carbonyl group is:
(A) sp. (8) sp’
(C) sp’ (D) dsp’
xiv. Choose one of the synthetic polymers from the following:
(A) Starch (B) Animal fat
(C) Cellulose (D) Polyester
xv. Which of the following element is not present in all proteins:
(A)S (B) N
(C)C (D)H
xvi. Newspapers can be recycled again and again by how many times:
(A) 2 (B)5
(C) 4 (D)3
xvii. Which of the following is not 4 calcareous material:
(A) Lime (B) Clay

(C) Marble (D) Marine shell

TIME: 20 MINU'(ES
OBJECTIVE MARKS: 17
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Model Paper 12" CLASS —2024

CHEMISTRY SUBJECTIVE TIME: 2 HRS 40 MINUTES
SECTION-I MARKS: 68
2. Write short answers to any EIGIIT questions. (2x8=16)

1. Why noble gases have usually zero oxidation?

1. Write down any four uses of Aluminum.

iil.  What is white lead 7

iv. What is iodized salt?

v. What are freons and Teflon?

vi. Explain the variation in melting and boiling points in short periods?
vil. Differentiate between Thermoplastic and Thermosetting plastic.
viil. Draw the structure of glucose.

ix. Write down any two properties of lipids.

x. How detergents are affecting the marine life.

xi. What arc lcachates?

xil. How are Chloroflourocarbons destroying ozone layer?

3. Write short answers to any EIGHT questions. 2x8=16)
1. Differentiate between alicyclic and acyclic compounds.
11.  Draw the various isomers of C4H g

iii.  Convert Methane into Nitromethane. @
iv.  State Markownikoff Rule with an example.

v.  Write down any four uses of Ethyne.

vi.  How NOs is act as oxidizing agent.

vii.  How Aqua Regia dissolved gold? Q

viii. How does nitrogen differ from other members 01 oup
iX.  How ethyl chloride converted into n-butane by W fnthesm
X Define nucleophilic substitution reaction.

xi.  Write down any two essential qualities 0%&10

xii.  Mention the role of Phosphorous in th{K of plants.

4. Write short answers to any SIX questi (2x6=12)
i.  What is central metal ion?
ii. Give systematic name of (i) 12] (ii) [Pt(OH)2(NH3)4]SO4
iii.  How will you distinguish nol and ethanol?
iv.  What is Dow’s meth
v.  Draw the structuralgfomnutas of (i) Carbolic Acid (i1) Cyclohexanol.
vi.  What is sodium n russide test?
vii. What is formalin?
viii. Briefly describe the acidic and basic character of amino acids.
ix. What are fatty acids. Give two examples.
(SECTION - 1I)
Note: Attempt any three from the following. (8x3=24)
a. (A)Define electron affinity. Discuss its trend in periodic table.
(3)Discuss any two methods of preparation of borax?
0. (A)Write down any four dissimilarities of oxygen and Sulphur.
(B) Define smog. Write down its conditions of formation.
7. (A)Explain Cis ~Trans isomerism in detail.
(B)Explain unimolecular nucleophilic substitution reaction.
8. (A)Write a note on Atomic orbital treatment of Benzene.
(B) How cthanol is prepared by molasses.
9. (A)Write any four methods of preparation of alkanes.

(B)Define Aldol Condensation with Mechanism.

Model Paper 12th Class - 2024
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MODEL PAPER (INTER PART-II)

BIOLOGY (OBJECTIVE TYPE) Time Allowed : 20 Minutes
PAPER - 11 Maximum Marks : 17
Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.

1-1

Which of the following is not an endothermic animal :

(A) Bird (B) Amphibian (C) Flying insect (D) Mammal
2 | An example of unpaired bone is :

(A) Mandible (B) Zygomatic (C) Palatine (D) Lacrimal
3 Which represents smooth muscles correctly :

(A) Unstriped, Branched, Cylindrical

(B) Unstriped, one nucleus per cell, spindle shaped

(C) Unstriped, one nucleus per cell, voluntary

(D) Trregular stripes, slow speed of contraction, spindle shaped
4 | The part of brain that controls breathing, heart rate and blood pressure is :

(A) Midbrain (B) Pons (C) Medulla (D) Cerebellum
5 | Which in your opinion is not a pyrimidine :

(A) Thymine (B) Cytosine (C) Adenine (D) Uracil
6 | The number of chromosomes in mosquito and corn is :

(A) 6&20 (B) 6 pairs & 20 pairs (C) 26 & 80 ) 13 pairs & 20
7 | The form of appearance of a trait is called :

(A) Genotype (B) Phenotype (C) Pleiotro (D) Sex limited trait
8 | In chick embryo the folding of neural plate is clearly visibl€ at -*Stage :

(A) 18 hours (B) 25 hours (C) hours (D) 22 hours
9 Which respiratory protein is of common presence i agrobic organisms :

(A) Cytochrome-b  (B) Hemoglobin “ytochrome-c (D) Myoglobin
10 | The Essay on Principle of Population was by :

(A) Malthus (B) Cuvier \ (C) Darwin (D) Wallace
11 | Whose paper, along with extracts fr 7in’s unpublished 1844 essay, were presented to

Linnaean society of London :

.

(A) Wallace ( 1913-23) George Cuvier (1769-1832)

(C) Malthus (1766-1834 (D) Charles Lyell (1797-1875)
12 | What in your opinion. i ample of biotic factor :

(A) Air (B) Water (C) Soil (D) Plant
13 | One of the following is a macronutrient :

(A) Iron (B) lodine (C) Molybdenum (D) Phosphorus
14 | Homo sapiens have been on the earth for about --- years :

(A) 10,000 (B) 20,000 (C) 40.000 (D) 60,000
15 | What apparatus would you suggest for ‘PCR’ to be carried out in :

(A) Spectrometer (B) Centrifuge (C) Homogenizer (D) Thermocycler
16 | A lake is divided into how many zones :

(A) Two (B) Three (C) Four (D) Five
17 | As panting is to dogs, application of urine and saliva is to :

(A) Humans (B) Birds (C) Bats (D) Frogs

< >
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MODEL PAPER (INTER PART-I)
(ESSAY TYPE)

SECTION -1

2. Write short answers to any EIGHT (8) questions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xi1)

Differentiate shivering and non-shivering thermogenesis.
What is hyperoxaluria? Give its causes.

Why dialysis is done?

How tetanus is different from tetany?

Give two adaptations of flight in birds.

Trace the path of urine from kidney to outside the body.
How turgor pressure is produced? Give its importance.
Predict the role of epinasty and hyponasty.

Differentiate hydrophytes and xerophytes.

What could you invent to boost uptake of dopamine?

Write the natural mechanism by which plants protect themselves from high temperature.

What information would you use to assess renal failure?

3. Write short answers to any EIGHT (8) questions :

(i)
(i1)
(111)
(iv)
(v)
(vi)
(vit)
(viii)
(ix)
(x)
(xi)

(xit)

What is your opinion about arthritis?

Define rickets. Write its cause and cure.

Differentiate identical twins and fraternal twins.

Rank the importance of homoeostasis for living organisms.

Write the characteristics of collenchyma cells. @
What would happen if palatine processes of maxilla and palatine £ use?
How would you grade uricotely as evolutionary adaptation? 6

What is cartilage? Write its types. ()

Write the commercial applications of Cytokinins. .

Write any two functions of callus. Q

How kidney is different from excretory structures @s ors of vertebrates?

What is synapse? Write its role.
.

4. Write short answers to any SIX (6) questions

(1)
(i1)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

Note :
5. (a)
(b)
6. (a)
(b)
7. (a)
(b)
8. (a)
(b)
9. (a)
(b)

How would you portray the effects of auxi }root and shoot regarding their movement?

Write the name of any three types of ki ones and their occurrence percentage.
Differentiate Etiolation and Chlorosis.

What are sertoli cells? Mention
How would you compare Os
Determine the value of
What is commercial ap,
Define pyrexia. Wri
How would you develo

of gibberellins?

uses.

e environment in which cell maintains its shape?
SECTION - 11
Attempt any THREE questions.

Categorize various types of joints as per their structure and function.

How can you sort the bones of forelimb and hind limb in distal sequence?

How would you compile the facts for human female reproductive system?
Explain osmoregulation in cartilaginous fishes and bony fishes in marine environment.

Give an account of human urinary system.
Describe the events of birth in detail.

Describe different types of parthenogenesis.
How the structure of skeletal muscle fibre relates with its features?

How would you assess the disorders of thyroid gland?
Write down role of phytochromes in detail.

A%

7z
<

Time Allowed : 2.40 hours
PAPER - 11 Maximum Marks : 68

16

16
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Objective

Q.1 Each question has four possible answers, tick ( v ) the correct answer.

i | Insingle entry system , the final accounts are prepared by means of statement of affairs
A } Correctly 1 B { Effectively , C { Wrongly ‘ DAI Approximately
i | How many methods are available to calculate the profit or loss under single entry system i
A | One | B | Two | C ] Three | D | Four
- If the ending capital is Rs. 55000; opening capital Rs. 56375; loss made during the years. 1375, |
then the amount of drawings will be, _
Al Rs110000 [B] Rs275%0 [c] Nil | D[ Rs.112750
iv_ | Receipts and payment account is a summary of ]
A | Cashbook [ B [ PurchasesBook | C|  Salesbook | D | Retumbook |
v | The amount received by the concern as per the will of donor is known as
A I Legacy B l Donation ] 6 ' Expense l D ‘ SuBscriptioﬁ__
vi Donation Rs. 9000, 4/5™ capitalized, the amount should be credited to income and expenditure |
account is |
Al Rs. 1800 |B| Rs7200 [C] Rs.9000 [D] Rs.900
vii | Parties involved in consignment
A | Two B | Three | C] Four Five
viii | In sale, the risk and damages attached to goods sold are transferred
A Seller B Buyer C Consignee
ix | Account sale is submitted by o ]
A [ Consignor l B ] Consignee ] C ] L D | Creditor
x | The decrease in the value of mines, quarries etc. is te
A ] Depreciation ] B | Amortization ‘[ epletion ‘ D | None of these
xi | Scape value is also known as
A | Residualvalue | B | Breakup | Salvagevalue | D | Allofthese
i Suppose cost of asset is Rs. 1000 and rate is 10% p.a. then the book value of asset
after two years under reducing bal . -
A | Rs. 1000 [ B | i3 [C] Rs.900 [ D] Rs.729
xiii | The liability of a member in a is generally
A Current “ontingent C Limited D |  Unlimited
|
xiv | If a share of Rs. 100 i at Rs, 90 the it is to be issue at |
A | 5%discou B | 5%premium | C [ 10%discount | D | 10% premium |
xv | Debenture inclu ]
' |~ | Participati
! cipation term
A | Debenturestock | B | Bonds \ C ettt D All of these |
xvi | Debenture holders are known as
A | Owners | B | Creditors | C |  Members | D | None of these
xvii | Current accounts of the partners should be opened when the capitals are
A | Fluctuating [ B | Fixed | C | Variable | D | None of these
xviii | How many methods are there to calculate goodwill
A | One [ B | Two [ C | Three [ D] Four
s Suppose A,B &C are partners, sharing profits in the ratio of 2;2;1 respectively. What will be the new
X% | ration if C retires in the absence of agreement? I
A ] 2:2 [ B ] 2:1 [Cc] 2:3 [D] 12
xx | The end or termination of partnership is called B
Al Admission [ B ] Retirement | C ]| Death | D] Dissolution
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(20)

Following is the receipt and payments of the student welfare society. Prepare its income
and expenditure account and balance sheet as on 31 December 2017,

Receipts Amount | Payments Amount |
Balance 800 Salaries 300 '
Subscription: Stationary 300
2016 50 Rent 300
2017 1000 Telephone expense 100
2018 | 200 Sundry expense 150
Admission fees 400 4% Govt. Securities 01- 1000
Dividend on investment 200 07-2017 500
Closing balance
2,650 | 2,650
Additional information:
i. Subscription in arrear Rs. 90 at the beginning and Rs. 200 at the end of the year.
il. Stock of stationery at the beginnings Rs.200 and Rs. 100 at the end of the vear.

iii. The rates were paid for fifteen month up to 31* March 2018.

iv. Sundry expenses outstanding at 31* December 2017 Rs. 50.

v. The telephone expenses for 3 month are outstanding Rs. 40.

Vi. At 31 December 2016 the socicty owned building 10,000 and investment Rs.4,000.
vil.  Depreciation of building (@ 5% p.a

(20)

On 1st March 2015 sultan traders of Layyah sent 1,000 T-shirts 1@ garments of Rahim Yar
Khan on consignment basis. Each shirt costing Rs. 500. Sultan pai freight Rs. 1,000 and
insurance Rs. 2000. On 31st December 2015 Uzair garm &ded on account sale showing
that 500 shirts were sold @ Rs. 560 each while 300 shirtgw old @550 each and remaining
were sold @ Rs.540 each. The expenses incurred b rments were for carriage Rs. 500 and
gadown rent Rs. 3500. As per agreement, U;ak&u was entitled to commission (@ 5% on
gross sales proceed. A cheque for balance d % s0 enclosed with the account sales.
Required: Prepare journal entries a% re necessary ledgers in the books of consignor,

(20)
Muneeb and Co Ltd was fo itk authorized capital of Rs. 6000000 divided into 60,000
ordinary shares of Rs. 100 Ist April 2017 the company issued 45,000 shares @ Rs.100
each at 10@ premium lic for subscription. On 30th April 2017 company issued 5000
ordinary shares @ rach at 5% premium to the directors for cash. On 30th April 2017 the
applications for 3 ares were received and 1st May.
Required: Pass sary journal entries and balance sheet of the company.

(20)

On 1st January 2015 a firm purchased machinery costing Rs. 25,000. On 1st July 2003 it buys
additional machinery worth Rs. 5000 and spend Rs. 500 on its erection. The accounts are closed
each year on 31st December. Rate of depreciation is charged 10% p.a.

Show machinery account for Five years under fixed installment method.

(20)

On 1% January 2022 Asad and Bilal enter into partnership contributing Rs. 400,000 and Rs.
300,000 respectively and sharing profits in the ratio of 3:2 . Bilal is to be allowed a salary of Rs.
10,000 per year. Interest on capital is to be allowed at 10% per annum , 5% interest is 1 be
charged on drawings . During the vear , Asad withdrew Rs. 12000 and Bilal withdrew Rs.20000.
Profit for the year was Rs. 96000,

Show profit distribution and also show capital accounts If their capitals are fixed.

“Good Luck”
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MODEL PAPER INTER PART-1I
Business Statistics (Objective Type)

Time: Marks: 10

Note: Four possible answers A,B,C and D to each question are given. The choice which you think
is correct, fill that circle in front of that question with pen or marker in the answer book. Cutting
or filling two or more circles will result in zero mark in that question.

1. To find out the size of shoes, the best average is:

(a) W. Mean (b) Mean (c) Mode (d) Geometric Mean
2. ’!‘:‘ x 100 is equal to:

(a) Link relative (b) Chain indices (c) Price relative (d) Fisher index
3. Index numbers are basically classified into:

(a) 2 categories (b) 3 categories (c) 4 categories (d) 5 categories
4. Mid-point is also called

(a) Class mark (b) Population (c) Class b arfes (d) Class limits
5. Parameters are related to

(a) Sample (b) Population (c) MQ}) (d) Statistic
6. Fisher index number of Laspeyres’s and Paa 's imdex numbers.

(a) A.M (b) G.M median (d) Mode
7. The probability of appearing a tail %coin is tossed

& Q
(a) 0 (b) 2 ’{\ ()3 ()1
8. Statistics are always @\
(V]

(a) Aggregate of facts (b) Tr Figure (c) continuous (d) New
9. Averages are also call aSures of

(a) Variation Location
10. Title should be i

(a) Small le

(c) Skewness (d) Median

(b) Capital letters (c) Italic letters (d) Roman letters
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MODEL PAPER INTER PART-II

Business Statistics (Essay Type)

Time:
Section — |

Q.2. Write short answers to any six (6) questions. 12
i. Define statistics in plural sense.
ii. Give any two important characteristics of statistics.
iii. Write any two limitations of statistics.
iv. What is continuous variables.

v. Give the advantages of arithmetic mean.

vi. Define Median. @
vii. If Sx = 450, and n=20, find arithmetic mean. O

viii. If L=19.5, h=5, fm = 25, f=15 and f2 = 20, then find mode. ()

<
iv. Give the formula of coding methods to compute arith % mean.

Q3. Write short answers to any six (6) quesﬁo% 12
.
i. Define data. \\

ii. Explain the term primary data.

iii. Define simple index number.
iv. Define continuous data.
v. Explain fixed base met
vi. Write any two uses of index numbers.
vii. Define price index.

viii. Define classification.

ix. Write sample pace for toss of a fair cubical die.
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Section - I

Note: Attempt any three questions.

Q.4. (a) If an experiment measuring percentage of shortage on dying plastic clay test specimens
gave the following results.

19.3, 16.9, 17.8, 17.3, 15.8, 18.5,
174, 19.5, 20.4, 18.7, 22.3; 17.5,
18.4, 13.9, 18.8, 16.8, 14.9, 19.5,
19.4, 16.3, 17.8, 23.4, 17.4, 19.4,
21.8, 21.2, 18.2, 16.1, 18.3, 17.5,
16.5, 18.3, 17.5, 16.5, 18.6, 16.9,

16.5, 18.2, 20.2, 20.1, 175, X1 B
17.4

Make the frequency distribution taking 1.0 as the size of class ifiter

Class 1011 | 12-13 E«Iﬁ 18-19 | 20-21 22-23 |
K _’4 _"‘9___ BECS o 6 01 |
Q.5. (a) Following is the distribution of mark d by 60 student in economics tests
calculate the arithmetic mean. (

‘Marks o010 [1020_§ [36-30  [3040  [40-50 50-60 |
R T T NN 2 T N R L=

(b) Calculate median of follo

| Class 1570-5.4 | 6.0-6.4 1_6.5-5_9 7.0-74 | 7579 |8084
| F ' 4 ET | 20 16 10 05
. N e ES—

Q6. (a) Annual averagla Jpr_ice of four commodities for the years 1980-82 are given below.
Construct index numbers for 1981 and 1982 taking 1980 as base by simple aggregative method.

h T T Tear B

item 1980 - " [ 1981 1982 1
Wheat 60 - 65 72
Rice 130 B 150 160 |
Cotton 420 a 480 540

| Sugar w0 1280 300 ]

Q.6. (b) From a well shuffled pack of 52 cards a card is drawn at rancﬂ:m, what is the pr&:ability
that is (i) a card of diamond. (ii) An ace.
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60=AF | w10 & 2= 2 BANKING  ($/&
LILEY) deaa
(Partd) i 2

Q.NO. 2 Write short answers of any Six parts 2x6=12 ’4??.:; L.!.r?/‘-iz el 71 {c_.nj; 2 A
[Define exchange bank é...éjf‘u/_ﬁﬂ.bw} -1
Define memorandum of bnak Z LT E| 2
Define mortgage bank gl sl .3
Define investment bank éhgflf..ﬁ.d;@/ -4
Write down the names of method of formation of bank Ll R pLLITL L 5
Define goldsmith gl s
Define prospectus Z-:...»jlf.atvff? -7
What is meant by promoters ? ¢ q_;yfc..ggg -8
Define industrial bank é...y/.’.fh;&v' -9

Q.NO. 3  Write short answers of any Six parts 2x6=12 2,-!0.:.;!,2 &2 Loz .{:..Jf 3 Ay
Define Debit Card é..éf/"-gfbl’.p_d =1
What are the benefits of Clearing House ? ) L,g*’l;’gz/-‘;v -2
Define Cheque Book EliLe| -3
What is meant by foreign currency account ? G ) Q.Jf/._bfc.:lfﬁ L})/LF;_" -4
Define bank customer N é.{jd/_;b‘z._ﬁ =
What is meant by minor customer of bank ? ¢ ‘a;yy?_..{b’agb;f._ﬁ -6
Define security : é_g/:’g;.:.)hf wt
How does a bank use the funds ? g 9.?%,'&"‘"!0)9 J‘JI.;_I..-E -8
Define marketable securities ’ é_éff'd,uﬂw'.:ds)dﬁ' -9

Q.NO. 4 Write short answers of any Six p ¢ 2x6=12 .’.1!0_-.—5':? /‘? Lz {r_J; 4 .'J'r
Define the term " Credit " A A G TRl 11 ) I
: Define bearer cheque O é_g}J_J_f;Jh <2
| What is meant by promissory n& ) g.}!fkﬁ:.aﬁ:d;f -3
What is meant by bill of exchange ? ¢ q_sl/gadi'ﬂ: -4
What is meant by endorsement of cheque ? ¢ 4.:!/&_,4’:..;2*3&’.{; -5
Define foreign bill of exchange g‘..g‘/"'-dldmf/! -6
Define rate of exchange "_é—é‘/’.’.JJ)VC; =7
Define spot rate of exchange _é—é*f@:lfb/'.:fl; -8
| Define commercial letter of credit é-.é‘id’lﬁd:g‘lé)(f -9

(PART I )  pyd4san

NOTE : Attempt any Three questions from this part 8x3=24 é'f .:.Ulruf:'-J/C-u’:‘#"u" 2

Write the main functions of the Central Bank a{ugﬂjdzgé.ﬁ.df/ 5,41

Discuss the qualities of a good banking system é@kt-&?f’i;d&:r@é%g -5./-‘U'-”

Differentiate the current account and saving account in detail éugﬂ-;ﬂj)uﬁ;u&ém;ufq ..7/:‘:.Jlr
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Which method is used for the formation of bank ? ¢ .;_tfg}:f;,.'aljgfrr_uﬂufrgK_@ <

Company ordinance :.ﬁi;"o";(C) Special ordinance ;.ﬁiﬁd‘r“’: (B) Royal order :..r'gﬁuiﬁfpﬁ (A)
All these = U# Ul (D)

Which document indicates the authority and limitations of bank ? ¢ .;__J/Q-G:Gm»bl_.'ﬁfﬁ_ﬂ:;ﬁ?:@yc.du! 2
Certificate incorporation /*4.§ulTedk, (C) Bank articles il % (B) Bank Memorandum & 65 (A)
Prospectus ,.»tu? (D)

Bank is a ............ institution Gt} i Sk .3
All of these ¢z, (D) Religious (:(C) Social & (B) Financial Jya (A)

Current account is suitable for é_tﬁuuf._iijl/'!:hfafg -4
None of these u.?;éfc_ufuf (D) Business community 2+(,\s,§ (C) Salaried persons ;buf}"r (B) Capitalists Jisi.t~ (A)

Which function does central bank perform ? 3 ‘LLerla""/;fe_’/’LJde/;’ -5
Bank of public & 6715 (D) Lender of last resort LS4 T6Us& (C) Advancing loan 5%/ (B) Credit creation ;J&‘?{A)

How many types of loan are issued by the bank according to term ? ¢ u}&?ﬁbﬁg{uﬁ}»ﬁdﬂ;&-ﬁ;ﬂ@&’_aﬁ -6
4 (DY 3 (C) 2 (B) 5 (A)

Long term period consists of ;.anj&xi?;{u}} -7
All of these (!2:, (D)  Years {uﬂ/ (C) Months {u:':.‘f" (B) Days .;uﬁ: (A)

Cheque can be crossed ‘:-_ff/dxb’w/{.é -8
All of these r'lx',_, (D) Holder Ki (C) Drawee .2~ (B) Drawer aﬁf.,:-‘/ (A)

A person who writes bill is called g_?éfqu_cjgﬁ;f{’ -9
Acceptor 25 (D) «{ Payee »9m (C) Drawer ».¥_>, (B) Drawee .Ji, (A)

Cheque is a written order drawn on ;.t?g’u;@i.;_,cfd;fu_ﬁ_g -10
All of these ¢lZ. (D) Custemer (té..‘ff (C) Bank ¢tL & (B) Endorsee r-tz:.grc;jﬁ (A)

E-Banking provides benefits to the Vfé’.ﬂfbﬂ;’f_ﬁ S -11
All of these, (9,_3, (D) Economy Seze (C) Banker £€ (B) Account holder Oisd (A)

Which of the given rate keeps the bai'ance of payments in equilibrium ? ¢ ‘aéﬁdwé.éwlﬁéu&;mq_éMgz,;-u =12
Market rate ,1;l7,* (D) Exchange rate J\*{” (C) Interest rate »»{/ (B) Discount rate &S (A)

What is the nature of credit instrument 1.O.U ? %JT(:JJJE:IJ =13
A sonograph JT6L_ /i1 2, (C) A holograph Fdnde A5 (B) Amonograph s7Sus™ 5l (A)
None of these Jfgjx(c_.;,ﬂul (D)

A bank receives on issuing a letter of credit ?rfﬂm;izléyd;w_ﬁ. -14
All of these L, (D) Commission ;f‘f (C) Interest s (B) Profit (‘,.’,L:w (A)

Foreign exchange control reduces the 4"_t‘ﬁ(c..d:}-°'g;.plé.bl_f -15
Import of capital AN (C) Export of capital WasaTs (B) Circulation of capital t/’g@f (A)
None of these (/= %y (D)

MODEL PAPER - 2024

(‘/




www.arifrao.com

/¢
_Azad Jammu & Kashmir Board Of Intermediate and Secondary Education, Mirpur
o Model paper A-ZﬂZb
STATISTICS !
(Part ~I1) (INTERMEDIATE) Marks E 17
(OBJECTIVE PART) Time :20Minutes
Note:- Write your Roll No. in space provided. Over writing, cutting, using of lead pencil
will result in loss of marks. All questions are to be attempted.
[, Each question has four possible answers, Tick ( V ) the correct answer. (17)
;l | | Normal distribution is —
Al Uni-modal | B [ Bi-modal .C | Tri-modal | D | Multi-moda
2 | The limits of the normal distribution are: l
A | 0 to 0 [B]  -ooto E -ooto 0 | D | U
3 | The co-efficient of skewness of a normal distribution is =
A | Negative | B | positive [c] 3 [ D | Zero
4 | A value calculated from population is called :
A Statistic | B | Mean [C]  Parameter | D | Proportion
| 5 | A complete list of elements in a population is called : S
Al Population [ B | Sampling frame | C | Sampling design | D | Sampling unit
6 | The standard error of the sample mean fora?= 16 and n=4 is .
'"_ Al 2 [B] 1 [ C ] 4 | D | 8
| 7 | A statistic 4 is said to be unbiased estimator of 8, if N _
| [A] E(d)= 6 | B | E(6)>6 [ C ] E@G)zf N\ [ D | E(§)<8
;;8 The point estimate of y is N\
| (Al o | B | o’ [cl  (h | D | x
| 9 Which of the following cannot be/null Wybothesis
| la] 0 # 0- [B] 0=6 | C ] B > 0 | D | 6 < 6-
| 10 | For a least squares trend line § = a + bx , which one is{trite
| Ja]l _¥y=% [B] =0 Y 3Iy>y [D] 3Fy<yy
[ 11 ! When b, is positive, then by, will be
FA) Negative | B | Zgg; i} Positive | D | 2
12 f If two variables are perfectly positively cofrelated, then the value of ‘r’ is
N 0 [B| (] [ C| >1 [D ] +1
{ 13 [ There are----- parameters of Chi-square(distribution
[A] 2 | B ¢ 1 [C] 4 [D | 3
14 ] The co-efficient of association'QJies between
A I -0t0+0 A \NB: -o0and+1 C 0 and +1 D -1 and +1
15 | Increase in demand of.ice cream in Summer is an example of
A | Seasonal varidtions | B Trend ¢ Cyclical D | Irregular variations
variations
16 | A sudden decrease in supplies due to floods, is an example of :
A Secular trend B Seasonal C | Irregular variations | D Cyclical
variations variations
17 | A set of instructions that runs the computer
Al Software | B | Printers |C] Hardware [D]  Monitors
(The End)
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Azad Jammu & Kashmir Board Of Intermediate and Secondary Education, Mirpur
Model paper A-20
STATISTICS = z"

(Part 1) (INTERMEDIATE) Marks . 6%
(SUBJECTIVE PART) Time : 2:40 Hours

Note: z\mmpt any TWENTY TWO (22) short questions in all selecting eight from
-2 and Q.3 cach and six from Q.4.
SECTION -1

2- Write short answers of any cight questions.
I Describe the parameters of normal distribution | Ii

(22x2 =44)

(2x8=1 6)
How much area of the normal distribution lies

betweenu —gandu + @
The first and third quartiles of a normal
distribution are 60 and 80 respectively, findu

Vi | What is meant by statistical inference?

il | Inanormal distribution ¢ = 25and ¢ = 5 find | Iv
mean deviation

V | Why B, is zero in a normal distribution?
Vi1 | Find the point estimate of u while a sample Viii | Give an example of type —1I error
consists of values 5,10,12,23.25
Ix | Define composite hypothesis X | Giventhat =13, u=10,0 =4andn =4
find Z.
Xi | What is computer software? Xii | Define output devices in computer.
3- Write short answers of any eight questions. (2x8=16)
‘ I Define sampling error. Ii o = 60 find oz, if
hout replacement
| Tii | Differentiate between probability and non Iv =

probability sampling.

’ V | What is the purpose of sampling? Vi
l Vii | It a=30and b=2 then estimate y for x=15 Viii cribe at least any two properties of regression
0 icient.
Ix ’ What is meant by dependent variable in " if byy =1.4 and by,= 0.5
regression? ‘
LX:' Interpret the meanings of 'r” whenr = +lea ii | Distinguish between positive and negative
r=-1 correlation.
4-  Write short answers of any six que (2x6=12)
I For two attributes A and B, describe Ii Given that (AB) =50, (A) =120 and (B) =200 find
Yule’s co-efficient of associa the value of n, if the attributes A and B are
independent.
lii | What is meant by positi ociation? Iv | Define historigram.
V | What is differenc signal and noise? | Vi | Given that y = 28 + 2x and x=-1,0, 1, find ¥y
Vii | Give an cmmp@anal variations. Viii | Describe the additive and multiplicative models in
time series.
Ix | What are moving averages?

SECTION-II

Note:- Attempt any three questions. (3x8=24)

5- (a) In a normal distribution, variance is 4. Find the first four moments about mean.
(b) The mean and standard deviation in a normal distribution are 30 and 10 respectively, find
(1) Mean Deviation.
(i1) Quartile Deviation
(111) Median
(iv) Mode
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MODEL PAPER ( 12th CLASS )
COMMERCIAL GEOGRAPHY i (LI

Q. Paper : 11 (Objective Type) CAS~ )L 24
Time Allowed : 20 Minutes < 20 o
Maximum Marks : 15 15 : AF

Lozerne R és vl D jJ602 -t L&D 41 C B« A bzl L iz : 23

-{nn“bﬂs.._alﬁuﬁ.«gfaﬁ"dd__/g Jo¥ L H_/Q!(UJ/UMLJL..{ _c’;;/?'.c:..gﬁ-k/(l.:'/xb.alsfdlbf

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Grasslands Ui’ L U (D) Equatorial 3151 (C)  Desert /7 (B)  Tundra L.¥ (A)

From which language the word Geography is derived : L P e Wb u’( HA201 -1
Chinese &* (D) Greek (ty (C) French &1/ (B) English L,ﬁ/ﬁ (A)
The areas of the world are favourable for herding : L S WK Lk L2

Point out the primary economic activity from the following : "i-( B J J/} ui'Lv el = L S

Research :;:?"2 (D) Services =lx (C) Fishing d{dl. (B) Industry == (A)

The grasslands of Africa are called : P o @Lﬂf U I);’j,:
a

Prairies {y2 (D)  Steppes ._.é (C) Compos ;_,:—;'/ ( vannas (¥ (A)
The proportion of world's population in China and India is : : < c K Gl T J Ly & LB uol SR
44 57 % (D) 2 47 % (C) oL ‘(B) A 27 % (A)

Alfred Weber's industrial theory was presentedn x of ( J‘ J;r" J'i J yap: /l
& 09 AD.

, 1609 A.D. (A)

, 1909 AD. (D) , 1809 A.D. %
Industrial Revolution in the world was tnl% : e JETE & i3

Russia U3, (D) China ¢ (G) U.S.A /4 ¢ (B) Britain :bs (A)

World's first mineral oil well in 1 was drilled in: :l_f e ;_,'Ff/ ¥ J’-’ ;3»* br § 2 = #1859

South Africa %//3#2 (D) il iz (C) Romania s (B)  Pakistan ¢/t/L (A)

Which country is at the top*fank in e edr M Lol WL s L o
respect of natural gas reserves :

Finland ¢ (D)  Canada k¥ (C) Russia U1 (B) China % (A)

Point out the river given in < 0/ e e 4iof S S of 7 “él Gr § (%) £ ANV -AVE
the following that separates Hindukush from Koh-e-Sufaid :

Bolan Uy (D)  Chenab i (C) Indus 24~ (B) Kabul f§ (A)

10
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(2)

How much area of Pakistan is comprised of
mountains and plateaus :

Hé Jf‘:’ ,;CJ/ L sl Vil ..Ll;r § C)‘“/(&

19+

4 79 % (D) 469 % (C) 4% 59 % (B) 49 % (A)

In Pakistan, the Bela forests are found : bt aler Lk £ ol [12
In deserts JaUi7° (B) Along the rivers #L-Z Uil (A)
In coastal areas ufu}"wgl’tf (D) In mountains HUsil (C)

The proportion of rural population in Pakistan is L B K LT S w13
44 60 % (D) 50 % (C) A4 40 % (B) 30 % (A)

For the cultivation of wheat, the rain is required : Py 72 k& L =2¥ g (ﬂ’ 14
% 80inches (D) & 60 inches (C) & 40 inches (B) &' 20 inches (A)

Why clay soil is essential for rice cultivation : e S ud & %3 &L L 226§ Jip|15

Retain water over longer time ‘Lcﬁm/'é‘:u_l:)&!; (

Gives more yield < »/!sx0:t (D)

B)

Itis fertile & s, (A)

Water absorbed instantl

*

.
ti**tt*****i******tit*!‘**i**ll’*****titt*i**@
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MODEL PAPER ( 12th CLASS)
COMMERCIAL GEOGRAPHY & (L
Paper : 1T (Essay Type) GAZEND T @ 5 )y
Time Allowed : 2.10 Hours & 210 - =
Maximum Marks : 60 60 : AF
( PART-1 U3 .»)

12 2. Write short answers to any SIX (6) questions : : é IO 4 /‘? L cly (6) & = Ljf l
(i) Write the comprehensive definition of commercial geography. 2y ¥ i?dl._é'/"a{_;bf (i)
(i) What is the difference between primary and T G A u,;'/; L?l”' S s Ju.;_l (ii)

secondary economic activities?
(i) How the planktons are useful in fishing? s i d/ 10, ,L . S J?L (iii)
(iv) How the population density is measured? e dt? ;_,f (;LV d: dt;f J GobT (iv)

(v) Write the name of two grasslands of tropical region..&rt Usiled S UWnd sboibe (V)
(vi) Define industry. -.é ...5,1/7 J =% (vi)
(vii) What is meant by iron age? <‘=® e s L o4 (vii)
(vii) What is the role of China in cotton textile industry?f<_ Jis D~ L‘Bl_..;u.l’. g}r (viii)
(ix) Describe the importance of nitrogen fertilizer. &L— el § oW Pt (ix)

12 3. Write short answers to any SIX (6) questions : =2 /‘.? L =y (6) & < Jf =3

(i) What is potamic theory? @' e U K U dus ()

(i) Why shifting cultivation is not suitablé &\ “u"; sk Ul =y S (ii)

(iii) Describe two types of rice in -rf i PV 2 g Db e 5 L (j UU/‘? (iii)

perspective of geographical dist@h

(iv) Write down the most importamtcuntries -g& 7 ¢t & W &1 L & g ol (V)

of wool production.

(v) Write the name of of tea. e LS e )
(vi) What is the natiye®rde of natural rubber plant? Se L o ¢ J1 € sy £ 2 303 (vi)
(vil) Write the four names of iron ore. ALl § < i
(viii) When and where the first mineral oil well was drilled? €4/ 1s#U/0sl /U1 e KU e (v
(ix) What is the chemical composition of natural gas? ~ Se " o/~ vt Sl (ix)

12 4. Write short answers to any SIX (6) questions : : é 114 /‘? L =y (6) & = Jf -4

(i) Describe the location and abuttals of Pakistan. -”é Jk 2 sl {,3J5 ¥yt L)

(i) What do you know about K-2? Wb T ek &L i)

(iii) What is the difference between Cholistan f— J/ Vb 177 sl gtlg 157 (i)
desert and Kharan desert?

(iv) In Pakistan which season is observed e RY J}y mb) e o fy J/ ¥ L-)w'g (iv)
the highest rainfall?

( il J;})
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(2)

4. (v) Define forest. -5 - /" J’f) (v)
(vi) Why the small dams are important for Pakistan?¢_z (.5~ U s ub‘g 3 L (vi)

(vii) Write the four name of sugarcane growing areas. -&¥ ¢t £ Uik b £ =26 § £ (i)
(viii) What do you know about Mangla  Sop Z-b U T U st £ s £ Fp e (vil)

hydal power project?

(i) Why the Balochistan province is U -« T ¢ o o = 5 £ $T gtzd - (ix)

Note :

least populated?
( PART-1I (o .)

B e letry f e S
o S und S b e e unde S QU

Attempt any THREE questions.

. What is meant by human economic activities? Give detail of

primary economic activities.

L T el e § 6T

What do you know about the population distribution in the world?

-_é .:f.- ¥ R S e S s
Evaluate the different types of agriculture in the world.

& ke § okt et AD2 =20 § oy o ol

. Describe the cotton cultivation in Pakistan and its roleyin the economy of the country.

EOXPE S GG £ o]
Compare the urban and rural population dls in Pakistan.

e e e e e o e o e e ok ke ok ok e ok e e e e e ok Fede *****************

O\
>

*

-4

-5

-6

il

-8

<8
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HSSC.(Part-ll)

Psychology (Objective) (Model Paper) () Gl el
Marks: 17 Time:20 minutes

JZLbéf;Jiru"ggéﬂ__;iﬁJ:{;:ﬁ:\? T!'(-'.-riig  ft zc..JD.ul C,B A..,Uijzbg.glrfﬁg §hizyg :/"J:‘J... I.Lr"ﬁ....uirrli Oy
-/ J/LU"L'JUTL/JL)/L_/FJJH:‘F_.-J'UJ/IEL-D L CBA

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in

front of each question with Marker or pen ink on the answer sheet provided.
1.1 At the time of birth child's height is:

“ by Ké;. =hL Jj'{; 1.1

(A) 45-53 cm (B) 32-35¢cm (C) 45-80cm D) 30-40cm

2. Leaming individual tasks like swimming and writing are called: :QLMJU@V"I{__‘S&/»I 7 2
@)  Phylogenetic E2%G ()  Geneic &  (C) Ontogenetic &257 (D) Growth 7/

3. Children start abstract thinking at the age of____ years. iwg.{fba /‘J L =2l er» /‘i. 3
@ 10 (8) 12 ©) 8 D) 5

4. Schizophrenia is a mental disrder: e SrLigsoe 4
@ Anxiety (227 ) Severe 4 4* ©) Normal e ) Less severe 4457

5. When was first book on social psychoogy published? -L:‘T}{C SIS ﬁ{al;’"b{*‘ 5
@ 1910 (8) 1908 ©) 1@ D) 1921

6. How many types of violence are : Q ‘.‘ugrk..?lf:f;ﬁ 6
A 2 (8) 3 € ot (D) ) 6 )

7. According to Kamble & Young how many stages are required for publi e dn S & e udel bl 71
@ 5 ®) 4 @’ 2 D) 8

8. Ego works on which principle? ¢ &\ ?‘LC})PB’,;J:'IJ'/ ¢ 8
@) Lie o7 (B) Pleasure prin &Jﬂ (© Reality principle =%_»! D) |deas s

9. When did Erickson present theory of development? WAL AP S "9
] 1910 (€ 1914 (D) 1909

10. How many stages of moral devel S LA LA 10
A 2 ©) 6 D) 8

11. From where medical view poi e ITLTEIBS 11
@) Iran i (®)} Syria ¥ D) Greece Wty

12. How many elements are in socialization? St E L2 12
A 10 (8) 9 ©) 8 (D) 7

13. How many types of instrumental violence are? ?ugrUI %,,ub 13
A 4 (B) 2 () 3 (D) 10

14. Mostly victims of sexual harrasment are: :Ug.f’_x}a,-g;ﬁs’ui)?db' 14
@ Men s (B) Women and childrené-.nluﬁf (C) Women L. (D) Older people £_J4

15. How many principles of guidance are: e &L 15
A 7 (B) 6 () 10 D) 3

16. Concept of depth perception is leamt through: ‘-';c-t't:h.ﬁéf -ﬁﬂ”’@‘/” 16
@ Interest :..d;ﬁ: (B) Talking = &_» (C)  Experience — <& 7 D Hearing &

17. Primary group is called as: e t'ﬂfnf ju“f.i
@  Family gisc  (B) Relatives /»=> (C)  People of one cirij!. WKL (D) People of one countryg;j[_..aé AL

Model Paper/12
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Vi
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HSSC.(Part-ll)
Psychology (subjective) (Model Paper) ()l
Marks: 68 Time: 2:40 Hours
Section-| Jile

2. Write short answers of any eight parts of the following: (8x2=16)  -Zfellz P iz e (e L5t .

i. How developmental psychology is important branch of psychology? ?.;.Z',, e 'J.:- -u“;_c,)f OB

ii. What is meant by physical change? ‘el e Ao i
iii. Describe four stages of cognitive development of Piagets. - dg-_];mi;JLéﬁ&%J;. L i
iv. Give two principles of guidance. okl M i

v. What is meant by ego? el th
vi. What is meant by transference? e 2l
vii. What are the changes which take place in physical development? 0t derbs b £ Td e L

viii. What is meant by ABC model? el e JUABC

ix. What is meant by super ego? ‘3?--"/’92-‘{{@{:’ R

x. Who presented psycho analytical technique of counseling? NG IR | ST )
xi. Describe importance of guidance. _“é;‘dg.:.:erGwJ Xi
xii. Define maturation. -éi:ug_gfu/ﬁ Xii

3. Write short answers of any eight parts of the following: (8x2=16) .Q::, w2 AL 218 e Sl 2t

i. Define stress. () S ASTEN

ii. What is meant by approach avoidance conflict? O . S e PP S i
iii. What is meant by eating disorder? @ Sl e ur LUl
iv. What is meant by delusion? . s\\ el e bio!

v. What is meant by phobia? \ el e Jtee .
vi. Give importance of exercise. K -u_‘/ul_.‘;.g:ufe’;n Vi
vii. Describe the symptoms of disorganied schizopherenia(b ~E e SIS vii

viii. What is statistical criteria of mental health? . te Ul QLEE=US |

ix. What is meant by good health? tesl e oA

x. Describe briefly abnormal behaviour, oSk
xi. Describe approach approach conti _ZE P X

4. Write short answers of any of the following: (6x2=12)
. Define social psychclogy.
ii. Why anti social behaviour is disliked?
iil. Who are most likely victims of the sexual harassment?
. Give any four types of public opinion.
V. How prejudice can be eradicated?
Describe the disadvantages of the drug addiction.
Through which method public opinion is measured?
What is meant by leader?
ix. Describe the characteristics of the leadership.
Section-ll
Note: Answer any three questions from the following:
S. Explain eight stages of Erikson's theory.
6. Discuss the mechanism of stress.
7. Explain rational emotive behavioural method of treatment.
8. Explain in detail methods for measuresment of attitudes.

9. Describe types of schizophrenia.

vi.

Vii.

vii.

(8x3=24)

Model Paper/12
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Islamiyat Elective (Objective) (Model Paper)  (#)$. i | it by St}
Marks: 20 Time:30 minutes
iRE. v&/dlrw/q&}wuf g W2 s LE Dl CB A-tlf..ﬁbzidlrf‘:ﬂ Qs’dim‘ /vd’d:....ufé_.mrru O

_J)/LL;‘LJJL/L;G/IJWLJQJ/ULD L CBA

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the answer sheet provided.

1.1 Jami-ul-Quran is the title of: e teuTA L 1.1
(A) HazratUmar (RA) 4= (B) HazratUsman (RA)U®=# (C) Hazrat Al RA)¥=# (D) Hazrat Zaid (RA) /= =

2. Played a central role in compilation of the Qur'an: Wb/ S p AT Jesh 2
(A) Hazrat Usama bin Zaid (R A) % j¢fimsb-le & (B) Hazrat Zaid bin Arqgam (R.A) ?jluf-).: j= 2
(C) Hazrat Zaid bin Sabit (R.A) &;b¢/ik iz # (D) Hazrat Zaid bin Harsa (R.A) & 2.k /4 i 2

3. “Israel" is the title of: e IS
(4 Hazrat Ibrahim (A.S) iz (B) Hazral Musa (A.S) ¥z (C) Hazrat Yaqoob (A.S)o-#%.=* (D) Hazrat Nouh (A.S) U s

4. According to Surah Al-Baqarah, the first attribute of the pious is: :4{..&';_}."&;/?;.»&/-/?!3»* 4
@ At (8) it (C) okl (D) Gl

5. The number of tribes of Bani Israel were: ELL S5 5
@ 10 8) 1 (C) 12 D) 13

6. Meaning of "Baqarah” is: gGLi2 6
) Cow &€ B8) calf 14 ©) Goat §£ Sheep

7. Allah gave freedom to Bani Israel from the: QW E G Jod 7
() People of Samood <7 (B) Peopleof Aad —sk(# (C) Peopleof Ph 9#5-3 (D)  People of Lout = b7 7

8. Memingof'df}' is: :gr-,rxﬁ’K'é"P' 8
A Releasewater b3y (B)  Asked for waler 1L}t U’J;tdt v Watered Lkt

9. Haroot and Maroot were sent in: \ WUUitdlastszsd 9
@ Syria U=l (B)  Babylon Ut kL % Madyan (= ¢/ 4 (D) Egypt =

10. Baituallah was constructed by: S e A
() Hazrat Dawood (A.S) Siin= > (B) Hazrat Musa (A.S) Ui qc} Hazrat Ishaq (A.S) U= (D) Hazrat lbrahim (A.S) ,fu:l..,,»

11. Hadith Qudsi is that which is related to: . eSS e iice
@ Allah aimighty =3 2S00 (B) R e SHA Dy (€) Sahabi —SAS0E (D) Tabai =S ASEE

12. Compiler of Sahih Muslim was died in: ;QJVK:.B;JJ_EJ:'LH"{;‘ A2
® 260 AH 261 AH ©) 262AH D) 263 AH

13. Intention is related to: e P 13
@ Tongue <= (8) Hand = #} ©) Brain b 0) Heart = J»

14. The third stage of human creation in the mother's womb is called: e bkl SKFE UL s L 14
n i (8) Ahias © @ (D ik

15. There are legitimate cases of killing a Muslim: (AL eSS " 15
A 3 (8) 4 ©) 5 ) 6

16. Meaning of "—2" is: P ] G T [
@ Relative »=% (8) Friend = ©) Guest b’ (D) Neighbour L4

17. Pillar of "Deen’ is: e YR AT
®  PrayersV  (B) Grattude £ (C) Charity 34 (D) Patience

18. To provide evidence in a trial is the duty of: e Yt st ins’ 18
(@  Administration S+ (B)  Theplaintff J$» ()  Accused S ki (D) Witness (ol

19. Grammatically, the word *"Muslimoon” is: PRI P ) R
(A Feminine form &+* (B)  Singular »/»  (C) Tasnia " (D) Plural &

20. Theword that tells about the past is called: bl S5V 2inHy 20
N W e S © AL ) s
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HSSC.(Part-ll) I 1
Islamiyat Elective (subjective) (Model Paper) ZE0) (S 3 it | bty St
Marks: 80 Time: 2:30 Hours
’ Section-| Jilw

2. Write short answers of any six parts of the following: (Bx2=12) -Z e Pl ng e M diitn 2

i. Explain the difference between "Tarteeb-e-Nazuli* and “Tarleeb-e-Tougeefi of the Holy Quran. ZOWIRE I bS] |

ii. Explain the relationship between the first revelation of e Holy Quran and the importance of knowledge. ‘;ff-'uj"b:d.frg_mﬁﬁ,addit{gufﬁ Ji

iil. Which two caliphs rendered the most services in compiling of the Qur'an? S b bnic e L L ST AL s ione i

iv. Wite four characteristics of the Holy Quran. E el

V.. At the beginning of Surzh ALBagarah, Alah amighty iided human beings info which three qroups?  — At SU[ L s S M T UIUIL SS I TL i
vi. What the attributes, a Muslim must adopt to become a "Muttagi*? Mention at least Jgﬁlﬁ‘f&&glg&guffuw.@iﬁé.'f " Vi

four atfributes. S
vii. When the hypocrites are asked to become true Muslims, what do they say in response? 2L Dz bl ¥ 2 o B s i
vill. Write the reason why Hazrat Adam (PBUH) was expelled from Paradise. YAl e w2 e e 2 i
ix. Surah al-Baqarah recommends seeking help through which two things? fe Uf S —gfi./‘l,}"buzj. sLUnZ »L-/:)f- Ay ix
3. Write short answers of any six parts of the following: (6x2=12) Z fe Pl e M L 3Ts 3
i. What was the Jewish claim about heaven and hell? Wiite two points. b BISKpt FL ez
ii. Mention four of the rewards of Allah on the Bani Israel. ..él)/';‘)?@gﬁ&tuiédgjl{ugbf'& i
ii. What lesson do we get in practical life from from the event of Saturday? Write at leasttwo (1 S b2 L (s e L ey i
points. 2 fen
iv. Explain relationship between the event of cow slaughtering and the belief in the Hereafter. g2 & s PLe #T8e # Toadiliinl i S T3 € iy
v. Why were Muslims forbidden to say word "Raana"? Write the background. _EU : Cu c.;".( LU v
vi. Wite the literal and terminological meaning of "Hadith". 0 B SIE i
vii. Explain the difference beween “Tab'ee” and "Taba Tab'ee”. _EEupL BB B i
viil. Wite the names of the compilers of Sahih Muslim and Jami Tirmadhi, Il Lo E i
ix. Write a verse (Arabic text) of the Holy Quran on the importance of Sunnah of the Pr AP LSt Tt SEE Urier ix
(PBUH). -

4. Write short answers of any Eight parts of the following: . %2- ) e L2 e e LS it 4
i, Write down the example with which Rasulullah (SAW) Clarified the i N IR T O A LW | T
“intention” in the acceptance of actions. Ny
ii. Write the names of four of the members of Islam. @ ‘q)}ﬁ'c&g&tﬁrmuﬂ i

L 2 -._-;—"._-,:L.‘nj'q.-;,a,\jm o il
_g,:rg}y(n)’b"uwl';.»d/j'/?--ﬁcﬂ R

sl Ut
_g’,i-.’,(fa!ju"{_.ﬁcigdﬁﬁé’yb/',{:i' Vi

jii. Explain "Lz, e YiaL o1 *
iv. Explain the meaning of "lhsan® according to Hadi
v. Explain “lkram daif " and “lkram Jar".
vi. How can "Zabiha" be relieved? Write

vii. Write two of the permissible cases of Kiing,of a Muslim. _q);f;sg ULl JJ’ZuW_{l Vi
viil. As a Muslim, what are the "lawless" acts that we shoud avoid? Write four points. _Q&faﬁ?‘.‘glgtf.,.tklc.uﬂ"dgw SN i
ix. How can you give charity without spending money? Write four points. LIPS B E S WS TR IN
x. According to Hadith, explain how a person can become a favourite of Allah & people? T{.mc,id;u‘il__‘%rulk‘ﬂsﬁﬁluu'.gféyu;c.ug{dcAr X
xi. Define *Feal Amar (1) and write an example of it LRSS S 3 S ki
xii. Write the plural: S o I ;-,"16 Xii

Section-lI (122
5. Translate and explain the following Quranic verse: (4+6=10) :gf: G'}ZJJK&LTJT}JJZ-,;J 5

b5 o 5 615, LA T G0 GBI B g S 0 ol A
6. Explain any one of the following Quranic verses with reference to context: (10) _q/wuz_JthJuTJT}-.ﬂf’ = LJits 6

(A) i e i ol o ()
(8) 338 Gl i b ey B 96y ()
7. Translate and explain the following Hadith: (4+6=10) FE A sl itn 1

, TPy FEp [N P JOR e R
8. Explain with reference to the context any two of the following Ahadith: (5+5=10) -:-?l-hf-dlpdlrl! & Li:’éc-ﬂv*»(f( = LUits 8
| &
WS Gl G5 () I D] A g1 () e M BN ()
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Roll No. (For all sessions) Paper Code

(‘ . *
h//':ﬁl:.fl

- Group-I- ...d/r
Education (Objective Type) /] P-i-v

(- ’H‘
Marks: 20 _;)as“ H,’ o i
o LL."DA" CBA, .-le'l"A-'J%-L.,'f’éjéfglfffdg)..lifc- Ui
-3 /c.&you}ghur_m.w/a.ucuul-(_@ e CBAZE e
NOTE: write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each
question are given. Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

Time : 30 Minutes
A Uiy Qb’ 814 r.,:?"‘-_-o)_- L8] ¥

question with Marker or pen ink on the answer sheet provided.

1~ 1- The Book "Al -Shifa Consists of volumes. e ST undenii 0 1.1

(A) 14 22 (B) 16 br
(C) 18r431 (D) 20

2- Dars-e- Nizami emphasized the most aver c_LfL avielde B 2
(A) Copying 4o i@ (B) Reasoning 4= e
(C) History ,;'f;,r (D) Politics gl

3- Who promoted the movement of Madrassa Rahimia: HIS PP ’f"/wt r.,d.ms 3
(A) Shah Wali Ullan dilssi (B) Nizam-ud-Din ¢/ Jiri&
(C) Shah abdul Wahab —4/1s% (D) Shah Abdul Rahim /252

4- Which subject was taught in university of Azhar by Ibn-g- Khaldoon.? Wos Ll 2 e b 4
(A) Figah 3 (B) Sociology =i/
(C) History ot (D) Science .- i i

5- Education policy was introduced by Charles Grant: :Qﬁ';_jab'?d!&;,ﬂwd-_&'/t@? 5
(A) Wood Dispatch "T;;,, (B) Sargent Report i 122
(C) Benting Resolution u’:’u» (D) East India Co | e

6- Number of Muslim students among 400 students in Government College Hugli was: L uufc_,.;:,g)*,—,?u:ﬁéu’.:.;f‘,fﬁ
(A) 5 &L (B)4 &
)6 % (D) 10 .()

7- Who laid foundation of Pakistan Movement in Sub-continent: d{ L uul'/L-f R T
(A) Allama Iqbal S ( V8d Ahmed  #1a
(C) Muhammad Ali Johar .2 (F¢ san Nizami  J&y~

8- To establish the post of Director Public Instruction was recommended gul'u-._}.a_.-fuu{fu /1_4, A8
(A) Lord Hurding £375,0 (B) Charles Grant =1/%
(C) Chales Wood 3:;JL: \ (D) Mount Batten gEe

9- In the education policy of 1992, how much quantity of &m intreased over 535: U‘Cb/;.535:'4"g‘.h’(u-,! LJ?J-‘IQB? 9
(A) 832 6 (B) 719
(C) 910 (D) 935

10- Military training was made compulsory for s in€education palicy: Jw,_,,_;g_;,;)_—__,_, {,U_d.-_ r Y 10

(A) 1847AD
(C) 1972-80A.D
11- The participants of education con

7 was divided in committees:

(B) 1959 A.D
(D) 1959 A.D
UL L 1041 P 1

(A) 10 (B) 12
(C) 15 (D) 18

12- The duration of 6th five year p U.-bnb’;:“’.'bwél. #4712
(A) 1998-2003 (B) 1993-1998

(C) 1991-1996
13- The population of world in 1999 was:
(A) 500 Crore /&)
(C) 600 Crore /vy
14- Numerically the largest class in Pakistan society is:
(A) Feudal mde
(C) Middle class kb7
15- In Pakistan drop out rate at primary level is:
(A) 45%

(C) 55%
18- In Pakistan the decrease of women education is due to:

(A) Co-Education /"‘Li_
(C) Population education =tif="
17- University of education was established in:

(D) 1992-1997 )
STt 1999 13
(B) 550 Crore J:fggrék
(D) 650 Crore  5»/ig>
:‘L#'if_.,.f‘_;?‘l&xvfb;b-.}p"& 4
;'J._«L/
-!’-r‘.j
e PS8 Al 15

(B) Capitalists
(D) Poor Class

(B) 50%
(D) 60% . >
e LUt 16
(B) Non Formal Education (“':m_
(D) Social Education (’"{,r

S

A AR

(A) 1998 (B) 2000
(C) 2002 (D) 2005 P
18- The quantity of colleges of education in Baluchistan is: :.4"“”&" 2 TARLUC 4 18
(A) 1 (B) 2
(C) 3 (D) 4 . . '
19- Examinations of 5" and 8" class has managed at: 'Ltw(t‘:‘wlf..:vﬁ..:.—fmq)‘fmu”{g,19
(A) Provisional Level /‘d"Jw (B) Divisional Level & fu%}
(C) Tehsil Level /,_’;“'j,.}':'; (D) District Level 48"5&‘
% AL P
20- The previous name of colleges of elementary education was: ety ¥R A UTAR 20
(A) Center of excellence -, (B) Training Agencies k'.’fu:.)
(C) Normal Schools S (D) Training Colleges ~ #5&7
Board: Rawalpindi

Paper setter: Asma Shahzadi
N332 0977373
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Roll No. (./':j:ﬁru_._af

(For all sessions)

Paper Code

Group-l 3/
Education ]/ (Essay Type) v

Marks: 80 ’ Time : 2.30 Hours &4 2:30: =%
Section -1 2x25=50

2- Write short answers of any eight parts from the following. 2x8=16

i. Write two characteristics of suffah.

ii. Write two advantages of Discussion method.

iii. What is meant by rational knowledge according to Ibn-e-Kahldoon.

iv. What was the curriculum at secondary education in the Muslim regime?

v. Describe the two advantages of Monitorial system.

vi. Write two important educational events of third period during the British rule in India.
vii. What was the status of science subject in British curriculum?

viii. Write two demerits of British examination system.

ix. What was admitted by Thomas Munro in his report.

x. Write two important educational recommendations of charter Act 1813.

xi. What were the conditions of system of Grants-in-Aid?

xii.What was described about eastern knowledge and literature in Wood Dispatch.

3- Write short answers of any eight parts from the following. 2x8=16

i. Describe two characteristics of Ali Garh Institute Gazette.

ii. Write two points on the importance of Muhammad-Un- Educational conference.

iii. Why national book foundation was established?

iv. What was the recommended about the training of civics in educational conference 18471
v. Write two suggestions about Islamic education presented in educational policy 1998.
vi. Write two reasons to establish Allama Igbal Open University. ‘2—1_,
vii. What was the effect of Ali Garh Movement on the character building of thsﬁudents
vii. What suggestions was given about uniform in National educational policy, 1979.

ix. Write the names of educational institutions that established as a result.ofiDeo-Band movment.

x. What suggestions were given for special children and educati@nal poliey1979.
xi. What is meant by Rural workshop school.
xii. Write names of two scholars related to Deo-Band movemént
4 - Write short answers of any nine parts from the fol!owlﬁg. 2x8=16
i. What two reasons about lack of education in women.
ii. Write two points about physical facilities of educationalinstitutions of Pakistan.
iii. What is the relationship of low enroliment and Breg:out rate in schools.
iv. Write down the impacts due to the lack of chscfpﬂhe among students.
v. Why investment in education is cons@gred important, write two points.
vi. Why rural education developmentis necessary, explain it.
vii. Which institution are conducting»gxgrri%ﬁations in Pakistan.
viii. Write two responsibilities of Technical Education Board.
ix. What is the roll of University of Education for teachers training.
x. Which private organizations are working for the professional development.
xi. Write two functions of provincial Bureau of curriculum.
xii. Describe two important functions of Text Book Board.
xiii. What is meant by the qualitative aspect of standard of education,
explain it by example.

Section -2

Note: Answer any three questions from the following. 10x3=30

5- Write a note on the instructions for students and curriculum given by Allama Zarnoji. o wans

6- Describe detailed evaluation. What were the distinguished characteristics has
of Deo-Band Movement.

7- What are the general objectives of all educational policies in Pakistan. Write down. s

8- Write in detail the suggestions for decrease in school drop-out rate. 10Kk

9- Write five points about the functions of Quaid-e-Azam academy 19 udarks
for educational development.
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4 lPaper Code - 2024
Number: (& Ji) (sl ) 1 - Sulg@Piaciepl e
TIME ALLOWE? 30 Minutes =+ 30 = =%|SOCIOLOGY PAPER-II R TR Vd
OBJECTIVE (% MAXIMUM MARKS: 20 20 = A5
<& [ by SISO L i zne o P b L g ) QRYR - F &3 D 41 C B A 2zl Ly A Ay
Q.No.1 You have four choices for each objective type M _i2add L §i S Sk |\ LS s ki
question as A, B, C and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet.
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D Cc B A Questions / = Uiy Sr.No.
Arabs British Dravidians Aryans The founder of caste system in subcontinent 1
-/ _f,; Il widl was: -ﬁ.}g::;'@;:.:,?.:lj_ﬁ,ﬁ
Baber Sher Shah Sori Mehmood lbrahim Lodhi | G.T road was constructed by : 2
2L Sl Z Ghaznvi St -j U/::‘;; e :-- &
Sit
Society Bradari Sub-group Nation Politically sovereign society is called: 3
Sl Sl WAL o e Els Fon B P S
All these Pen Book Car __ are examples of material culture. 4
(Ve ﬁ = /£ —-vf_?-":i-é’!-—';‘-":dﬂ I
Faisalabad Lahore Rawalpindi Multan The large the Punjab is: 5
:gl',"‘-; el Sadsls o[ -.:‘_,flzz:...,-/é'..,.i.:},
Education Language Wealth Religion The ‘base of ideology of Pakistan is: 6
s i . AT P
Material culture Sub culture Real culture Ideal cult@r ulture of any province is called: 7
=B =0 =dF ST AT
Punjab KPK Balochistan Heer Ranjha is a folk story of province _____. 8
- P2 o —._LQ‘IPL'-'-?{; s .,r":f:-',-ﬁt
Waris Shah Rehman Baba Sultan Bago dul Latif Bhitai | Folk poet of the Pashto language is: g
sl Lo x & é'a_..'y_hhg _u:f-..‘r_!?r:.;“,.i;’i
Balochistan KPK % Punjab Gawadar is situated in province ____ . 10
BT F = i b -.;_élsu: e
City Seﬁiement® Culture Group Living of people at a place is: 11
2 ST B ik DRPASAL YL,
Industrial Rural Modern Urban Patwari is most important personality in 12
& ) P g society: —«f—a:‘?r'”-fca-‘fdf‘-—;b‘d:'f;
Paopulation Subculture Family Bradari ___is consist of husband, wife and children. | 13
g7 =3dd s it Sz P e
Economic Religious Political Educational ____ institution punishes the criminals. 14
,‘A"w 20" Jhk J..J': _:_‘_i.‘;_-l;f-::_,':’/fuh'
o~ » 2023 AD s » 2022 AD o~ » 2021 AD -+ 2019 AD |The last census was conducted in Pakistan: 15
A
Desire for male Bradari Family planning Education __is the cause of overpopulation. 16
child 136z, 7 Sl e 36 g e KO TIA
Overpopulation Industry Employment Wealth __ s an important cause of poverty. 17
St Th) A g s = ..4"_.?:1’7'\_5,&); ——
Ignorance Development Awareness Employment  |llliteracy creates: 18
= 5!,: e sn - :5'.._»' u’.;t' 17t
Religious Political Informal Formal Decisions made by panchayat are: 19
S S $ 4 & LBl sz
Peshawar Karachi Multan Lahore _____is called a city of Saints. 20
a2 g o Y et L L o

4
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(@ U)ol U 1l - 2P iof 2024 v
TIME ALLOWEQ__Z.BD Hours £’2.30 = =% |SOCIOLOGY PAPER-I '/:u - 34 =l
SUBJECTIVE .::ifJi MAXIMUM MARKS: 80 B0 = f‘:u‘h'/

NOTE: Write same question number and its part number on answer book, as given in the question paper.

N T A e T T\ L

SECTION- o>

| 2. Attempt any eight parts.

16=2x8 S felindle 8 2 )
(i) |Define culture. -l |G
(i) Write down two achievements of Austrics Y e bl ST (ii)
(1) What was the status of woman in Dravidians culture? ‘G‘Jaz'e’- S AZE S hn {iii)
(iv) |what is meant by Race? Cesi e S | (iv)
(v) Which family system was found in Aryans? ?G:bLL‘wJJI;va}:CJELf (v)
(vi) | Write down two impacts of British culture on the Pakistani culture ...:‘_:;,5“.:. Sy .f:ﬁl:'w L ._,'s.s'-‘j;_ffi (vi)
(vil) | What was the status of woman in Islamic culture? ‘fwr'Lb:fe.:u!g,rZ;.'m?u’M (vii)
(viii) | How did the caste system originate? tdnd Pl =i | (i)
(ix) Why Harappa city is famous? 4—»‘:’;" r,.’, r (ix)
(x) What is meant by ideology? 5";..;yy.;:f' (x)
(x1) What are the elements of ideology of Pakistan? ‘.';._f...f.:..ln‘j;,-’;?.d’gwf’;:/x’- (xi)
(xii) |Did two nations theory bring Pakistan into Existence? Lol A | (i)
3. Attempt any eight parts. 16=2x8 ;fapﬁﬁfziifc.df _3/:Ulr
(i) Define sulb-culture. ‘-é_d_@/‘:"dfcﬂﬁ?i‘- (i)
(i) How many sub-cultures are found in Pakistan? “V_?Slgjw?;fi};,fvu""; (ii)
(i) Write down the name of capital of Punjab. 6 __._{ f AT IL...I.:'— (i)
(iv) Why does Muitan is called the city of Saints? g ¢ ‘-'u_?.?;. u::; il Stk {iv)
{v) Write down the name of two romantic stories of Punjabi culture. % =y :,f".?b-.f:‘Lu,-;_j’.;.’:ia'-’;,fL_-"v (V)
(v1) Write down names of two poets of Punjab. -g,'-:‘-fl:::.ffﬁuﬁ.fﬁf (wvi)
(vii) | Write down the names of two Saints of Sindhi culture. -égf?t&;gﬁgmdﬁﬁu’k (vii)
(viii) | Define Jirga. _é.ﬂ/’-d."i (viii)
(ix) Write down the names of two sea ports of Balochist -.:‘f f‘.g,_,,v A ':,_,_,.;r {ix)
(x) What 1s meant by density of population? L 4 el e diasd | (x
(xi) What is meant by sex-ratio? N ‘-'._-_.vvl_fc.‘./hfdy (xi)
(xii) |How do the vested interests affe integration? ‘?_,.';a-‘.,,-'f."t-;;_‘.’;f:ﬁ_g._’\}ji.:.-;&:}ii (xii)

4. Attempt any nine parts.

18=2x9

Ejerlizie S a4 i)y

(iy  |Define family. S |6
(i1} Define joint family. ‘._’;K._.L_', :,-/,;, u.}."}ﬁ‘ {ii)
(i) Define matriarchal family. -.;_’,';._.ja_'}-’ LG (iil)
(iv) | What is meant by democratic family? el eiedm? | ()
(v) What is meant by religion? ?{_J'/’:..’_...l.r:‘.; (v)
{vi) How does masjid bring about social integration? e \.3;'9’J’:—:‘Ir;f'.‘.“c.,fgf;:a.,:\r‘»’?j (vi)
(vii) | What is meant by secondary occupation? Sl e g die | (vii)
(viii) | Define economic institution. -.__...}_'/;d;;"'\}b* {viii)
(ix) Write down two functions of Patwari in rural Punjab. -.:;—';_f._. Sansd S .,_,ﬂ.m,{- {ix)
() Define Poverty. _.i._;-',%_-z.,f %)
(xi) |What is meant by overpopulation? el Gy WA | (i)
(xii) | Explain the increasing trend of exogamy. _.{:‘:.JJ:J’.;_@,’:.;:‘«;.J:GJ.;S (xii)
(xiil) |How does the lack of teachers in colleges causes the failure of students? -—-L;-’-‘-’,-"U._;O/t.}-f"l’ SUak LIE 11 (1)
SECTION-II (2247

NOTE: Attempt any three questions. 30=10x3 .éz;a.'!éuﬂfrgﬁc.d{

5. | Write the salient characteristics of Aryans culture. Ly :f,?’f_,._,;r-“’,i_. Gl ,,T =5
6. | Describe the characteristics of Balochi culture. -;;L'g_-,yw"-_}'_-.s:z*.gé -6
7. | Describe the problems of integration in Pakistan. EhLFL L | -7
8. { Write down the functions of economic institution. EF 0L e | 8
9. | Give your suggestions to contral overpopulation in Pakistan. -l lu-,c._/J!”I:)J'- :I,}IV-UL‘/& -8
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2 MODEL PAPER FOR 2024 and Upcoming Examinations
Intermediate Part Second

. ENGLISH ( Objective )
Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the

Time: 30 Minutes

Q.No.1

/9

relevant circle in front of that question number on computerized answer sheet. Use marker or pen fo fill the gircie_s.
Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.

Choose the correct option of the underlined words from the columns A, B, C and D and fill up the bubbles:

' S | _ Questions A B C { D
1 i‘iﬁ:;’ EZisie?éegb% ‘gﬁ::es'ouoman Enemies | Opponents Remains Fa\iuiu_ |
HFZ | Lister was medical peer of Pasteur. Fellow For Enemy 1c§hc| ]
_3 ' Later the holidays were reduced to a fortnight. 0_?1e week | Tendays | Two weeks | Midnight
4 | In the past, city streets were full of garbage. Valuables | Rubbish  Merrymakings Fujr‘l)ind
— =t =i - !
o [T S o | b | s | vk | e
6 E::er;a has eyaded the blind expansion of the Electricity [Development| Contraction | Spread |
. :;::f\ﬁ:g;;lmmn is increasing like 2 gigantic | Small | Splendid | Miniature Big ;
'8 | The manager was a grave, calm man. Bald Rash Serious Idiot
9 Scores of books were lying there Plcnt-y of Sho, Brief of Sale of’
10 | A star seldom ﬁ—nds anothcr;ywhere. o Often | F @ y o Q_uickly somelim;i |
Choose the correct option for the following blanks from the columns % and D and fill up the bubbles:
| S# | - Questions ' { | B C D
11 | He was alarmed the news. rom By | At | With
12 | He is suffering Malaria. In With From By
' 13 | He is partial B his friends. N With For To At |
'—1_4_:"_'1'h?!hiefwas charged With For _/\I . 'l‘|1r_0{1gh |
' 15 | (‘;;’l you give Over Up | In _

: lhcfl{
~ smoki On
Choose the correct sentence from each of th TOUPS and fill up the bubbles:

16 | She bought two dozens bananas
W_Shc bought two dozen b
B | She buys two dozens
€ | She have bought t

, oh bananas. |

| D | She bought two anana.
18 ﬁ;‘ithcr he or his brother were suffering

from fever.

' A | Either he or his brothers were
suffering from fever. )
B | Either he or his brother shall be
suffering from fever.
| C | Either he or his brother suffers from

fever.

- D | Either he or his brother was
' suffering from fever.

20 | The night is too cold.
’:A | The night is very cold.
| The night is too much cold.
The night is too many cold.
The night is much celd.

B
C
D

17 [ He is senior than me.

19

A | He is senior than I. .
B | He is more senior to me.
C | He is senior than mine. -
D | He is senior to me. - __|
| He is M.A in English.
A | Heis a M A in English.
| -
B | He is an M.A in English.
C | He is the M. A in English.
L[) He is an ML.A in the English.
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MODEL PAPER FOR 2024 and Upcoming Examinations
Intermediate Part Second

ENGLISH ( Subjective )
Time: 02:30 Hours Marks: 80

SECTION -1

2. Write short answers (in 3-5 lines) to any SIX questions from Book-II: (Modern Prose and Heroes-Part-1) 12

(i)  Why is the universe, of which our earth is a part, so frightening? Give a good number of reasons.
(i) Differentiate between our outlook or attitude and that of our forefathers.

(1)) How does financial pressure lead to the failure of students described in “Why Boys Fail in College™?

(iv)  What were David Daiches’ feelings on a Thursday morning? Do you have the same feelings on
Thursday?

(v)  Why could J. C Squire (the author) not burn his unwanted books?

(vi) Explain in title of the essay, “The Man Who Was a Hospital™.

(vit) How does China rely on her own resources?

(viii) How can we improve the living standards of the poor countries?

(ix) Write any three impacts of population explosion on environment.

3. Write short answers (in 3-3 lines) to any SIX questions from Book-II: (Modern Prose and Heroes-Part-I1) 12

(1)  Why did Churchill not like the examination?

(i1)  How did Christopher manage to get a seat on the weapons’ carrier?

(111) What sort of water did Christopher and party get from the camel’s stomach and with what result?
(1v)  Why couldn’t penicillin have been discovered in the research laboratoriggof America?

(v) Do you think that penicillin is better that the chemical antiseptics? W
(vi) What part 1s played by the white blood cells in the blood of a humy
(vil) Why was Pasteur called a patriot (lover of one’s country) more tf@«‘cicmisl'?
(viii) Describe any three reforms introduced by Mustafa kamal.

4. Write short answers (in 3-5 lines) to any EIGHT questions froga
(1) Which school did Chips join first and how long did he s
(i1)  Why did Dr. Merivale say that Chips would die a na
(111) What kind of books did Mr. Chips have in his g
(iv) Did Chips’ views about the modern women ’c&e fter meeting with Katherine?
(v)  What was Katherine’s opinion about Chip §profession?

(vi) How did Katherine help Chips in the mgft discipline?

(vii) Why did Mr. Chips want to write a book
(viil) Why was Ralston unpopular in y ifion?

(ix) Why did Ralston want Chips t ¢¥ Was he unfair in his demand?
(x)  Who was John Rivers and w id he favour Chips?

(xi) Estimate Chip’s love for t okfield school.

(x11) Write a note on the de:

egovel, “Good-Bye Mr. Chips™.
here?

SECTION —1I

5. Write an essay (300-400 words) on any ONE of the following topics:
(i) My Favourite Hero (i1) Blessings of Science (iii) Co-education (iv) Mobile Phone

6. Use any FIVE of the following idioms / phrases / verbs in sentences of your own:
(1) build castles in the air  (ii) good for nothing  (iii) keep an eye on  (iv) an open book
(v) famous for (vi) laugh at (vii) in short (viii) a busy bee
7. Translate the following passage into English:

- - = & = A e I/ - i 4 , -
B2 £ o -USL//[;#U(fF: -g_,_'}’d..l‘«:;i,'*"afflﬁh.._,l,: _Lajgxwaﬁ!dalé?dnmif;f

SV (O ] G, SR I (L - OSRG-S YP-~ 'S (R VRN, > I 15 WY, -9 7 ST %

- -
s f -
~ iy / |/:IU"

NOTE: English Medium / Foreign candidates will write a paragraph (150-200 words) on ™ A Rainy Day ™.

The paper setters of all the boards have unanimously approved the model paper.

16
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MODEL PAPER (CIVICS) INTER (PART-II)
(BISE BWP) SESSION (2023-2025) AND ONWARD

G SUBJECTIVE rrsereeereserend
| 80 = i.{—:z:so:_&:

_.;_;j,ut/ f_,u;/-‘a_,ril{osi):_df,.-_u‘a/ e Zi21(8 - 8)E Jivre ik 34 vl 24 P é =Ll }

L ]
-LuJ./,J/.-J rJr;,f/ o3y ‘/1.’ 2l / v gl b’ub &-JHJ]rUI-C—J[{;-‘fr’ .a?.f’
Note : 1t is compulsory to attempt (8 -8) parts each from Q.No.2 and 3 while attempt any (09 ) parts from Q.No.4 and attempt
any (03) questions from PartIl. Write same Question No.and its Part No. as given in the question paper.

r -
50=2x25 {Partl)us!.&?:]

---------- ............___---_-__-----?’-’!’."."“."":".._._._____._....-.................._._..._..__.:_...’--‘----_--.I
l [)etme Ideology. -é..é—'/‘b:/" (i) ZK-JI,-* !
:Whal is meant by Separat Electorate? ‘e s e o Fisbie (i)
| Khalafat Movement remained successful or failed. W L7 (i)
| Who were Moplas? 'i'i.c)fxgr (iv)
| Who was first President and Secretary of all India Muslim League? 7 ':rdi;,s';ré'_"_ LJ}";}!- T (v)
| What Pandit Nehru said about Pakistan Resolution? "J.-"_,-.—...;L_ul/ Lol 3o ez (vi)

1

{ qflh_ T u"m_.‘_, U/’}Ldiﬂ (vii}
|Wnte down the names of two Muslim Judges of Bengal Boundary Commission.

: Which two Parties signed Lucknow Pact? "4_rh3”;/r’“vv._)y,:r..u::;l.:.l, (wiii)
:W‘hat do you know about Ali Brothers? SE r_wl/.... IJ"){'_QL)‘L{J (ix)

! What is meant by Dual System? ‘cl_:/t_.:r_.(,.y (x)

1 Under Which Act Bihar and Sindh were made Provinces? T i s JI 4 (xi)

[}

1 What do you know aboul Chora Chori incident ? el /Ll—&’!‘.’: Szl (xii) .

1 o EEe

. MY Vel TC1962 () 34

' Who controls the Session of National Assembly? / J {ii)
: Which two were the National Languages under 1956 Constitution? 'S ".,:-‘,.. 975 y'!-f)':.-f«f.u" 71956 {iii)

Define Muslim according to the Constitution of 1973, O .:"':....yf._;{_,fu/u,&‘z_u_' 721973 (iv)
How President can be dismissed from his office? fe thyi_r’..-i)xd"c.c.,gff;ﬂ (v)

: Which Institution elected the President of Pakistan under the 1962 Constituti
c.t/, Sl L FG7

What is meant by Ordinance?

1
:
: \ e e UTLT (vi)
E Inwhich Constitution of Pakistan there was unicameral le & "Ut,l'Ul..f..J/’h/_-*.a.,_,- ’I'u’rég;.lbq (vii)
Wnte the names of Khairi Brothers. Q __,':'J',T'tcﬁuluf.:d,:; {wiii)
Whmh is the highest Court in a Province? ‘-'(_..,:lnf;::)'xd‘l;. ./;}{_gr' (ix)
l\v‘\'h:ll is meant by Advisory Powers of Supreme Cou ?.?_.Jyy}_..;‘-llejulfﬂzf_’.-.ﬁ{/ (x)

' * !’5'::1;}"‘_.:;:;'.,—,{‘:(,_,_J Ur/l\)/yu o (x)

I
; What will happen if Prime Minister | ajority in National Assembly?

?Og,:',;é.u”::kgﬁ.-;;’;d:oﬁt:gd‘uf:‘ld:g (xii)

!
:When and Who Presented the fi ort of Committee of Basic Principles ?

44 )

What is meant by Physical E ;;yi_/;.#:‘"dw (i

]

] .

| Which Education Stage is Starle@fter higher Secondary? E'a_:.&ﬂ&sl}‘o-f‘wjufﬁ,'{'.dft‘d" (ii)

: What are demerits of Illiteracy? ?u_.'..-,w-'-"l_,"{. sy (i)

! When Principle of Equity is used? ﬁ'.c.tygu!v;lg?’c)wdﬁ {iv)

:Wh_v Protocol is necessary? e s r,juf/g':',r:)j (v)

: What is meant by Fuedal System? ‘¢H !_fira-['ﬁ’u;hr’ = (vi)

: How can Provincialism be eradicated in Pakistan? ""-.’_J ,f..( (et Uwi {vii)

| What is the Prime task of U.N? ._.uf 0 Ps’.o“ F (viii)

: What is basic duty of Trusteeship Council? a4 Lff\_)'}ufr (ix)

: When India attacked on Balakol? ‘--U:l—’-:zqfu! U{..&.LJ* (x)

: Which is neighbouring countries in the North and East of Pakistan? ‘.'.-_,_':‘LM.:?_ :Ld‘:!/"nl IPLQL”JL (xi) 'l,

t What is Indus Basin Treaty? c. Uuu- Sz (xil) 1

: When did Resolution "ass by Security Council on Kashmlr issue? "'Jr 'L..f"'l/’ L)';(wf’. ""H_.r/ (xiii) :

1 T ]

: (30=10x3) (..'3‘?.’3 ) o o :

: (10) _.:‘._f.- f..L/u'veu.:.f;uéqqif‘;;wvfjﬂu_'ré;ﬁ_ii{/ sy :

: Analyze how Sir Syed introduced with modern education to the Muslims of the Sub Continent in the 19th :

! Century? !

' (10) S b g Bl 61973 64 |

: Does the 1973 Constitution meet Modern Democratic Requirements? :

| (10) —rzen Sl VA S Bt 1Ay |

: Suggest such measures so that tragedy like East Pakistan does nol happen again? B :

' (10) e bl & Banr W urr el 80 |

: Does the current education system of Pakistan meet the modern requirements? o

: (10) Write about Pakistan-China relations. -u_‘f;_,c.c_;}c':.:. G@L;ﬁmdt"’; 9/ )y :
]

'- )

L

e

20
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MODEL PAPER (CIVICS) INTER (PART-II)

Paper Code : 8177

(BISE BWP) SESSION (2023-2025) AND ONWARD oo :
OBJECTIVE
{20 e | ) fora0

R ]

S

gﬁ'lﬂ‘:-;):ualljgé. ’/,—-,‘.Jlr,_jl 9.0 lf:ff v '...-‘.u TJf EI WY, ..c‘ 2D, C,B, ﬁ...&'.ﬁ..ﬁ lr[-._,]h’/ T el
< e v &« -

-rﬂ;.""}.‘hﬁ?“zn&y—».-;"‘J&-JJ“/(_-“‘_LH-/QL.'JJ‘ e .._ﬁ .J,:/'-"...\fi_.-dﬁ

Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question
number on the Objective Bubble Sheet.Use marker or pento fill the circles. Cutting or filling two or more circles

will_result in zero mark in that guestion.

U’U u—'i\.”nbf-rl'\“/%‘- —tif l’m’mf'_/}uﬁ/jl-c
In which Act the Post of Minister of Indian Affairs was first introduced in the Subcontinent

(A) 1858 (BR) 1861 (C) 1892 (D) 1909

When Partition of Indian Plan was announced : : [P 1 L(.‘.’d’ul?m'-:

(A) 3June o

_-,.r!l 3 ((‘) 23 l\‘[a{rh ;';A. 23 (D) 14 Augusl _fl 14

When did Sir byed Ahmad khan establish his first Educational institution : : i”‘l.?.,n.rl:f;,C’%.-_ -l A
(A) 1858 (B 1859 () 1863 (D) 1875

When was I\halafat Movement ‘-larterl : (A} 1917, (B) 1918 {( ) 1919 (l)} 1920 NS O] f—

When Shimla Deputationmet with Viceroy ” S : _;.v“;_a-—‘/l) -..;—u-:..-‘”

(A) 1905 (B) 1906 (@ 1907 (D) 190¢

Who was Second chemor General of Pakistan :

(A) Quaid-e-Azam {"UF (B) Sikandar Mirza lizsf (C) Ghulam Muhamma@i«’ IJ) Ayub Khan \Jv..vﬂ

y Wl "/’..:.d" L] L"w’.
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: Which is called Magna Carta in the history of Pakistan : Q .r_{'kct;-f.,f M’t‘)‘,,. wt‘JJt"f (7
: (A) Lahore Resolution st s} (B) Objective Res fon <G )
j (C) Bogra Fnrmula e o, _ _(_[?_)_“Basip es Committee ""J:""jﬂ.’."_'f'.?_ o
| Which isthe Prime duty of Parliament @' eI ../S’._-‘f,L (8)
(A) Justice _?l.&'l (B) I:utfun.l..aunt uf I aw :I.bb’urb & tm'nt I (H) !aw Makmg J;wuh )
To uhlchme—nce Shmkh M u]lb-ur- Rehman belonged - .ﬂc..._r‘g_,/y B et & f (9]?
(A) NWEP m/;,fdl- - (B) Bnngal (L.) Balochistan u.ﬁ)‘ (DJ Sindh 4~ I
wmn duI OnP Unit came into being (A) 194 1955 (L) 1965 (D) 1970 : v..fo_/w: (10)
Who was third Prime Minister of l’aklstan : '..?uff'lgnlﬁ(u)w - (11)
(A)  Kh Nazim-ud; i#ta#  (B) ChMuhammad Ali 45243 :
:. (l.) Muhamma ogra u).’l!ul'} (D) Zulfigar Ali Bhutto Mo,
:Whlch type of Education is given in leges : : al‘_{jw f“'b‘;_,w.u}i’y (12) b
;ll ommercial Education [‘-'.‘;3»’ (B)  Agricultural Education (MJ;J :
‘ Legal Education ’-'-"JJUFF (D) Medical Lducation f"'f.‘.& | :
' What is average life in Pakistan L /“JvﬂL;ULJ( II(]3) I
(A) 63 Years (B) 65 5 Years  (C) 67 Years (D) 70 Years
Wha is the IHead of Crime Branch : - e +.tﬁc)1':lz/(£ L:/’"f (14) :
W) secretary $iE (B) LG S0 (©) Deputy Commissioner 203 (D) DLG §.dT g :
Whlch System is deep and ﬁlrnng mntud in Pakistan : L; .o'u/._/?\_{r'\liru{ful/l (15) :
EA) Class System f'wd"‘) (B) Fuedalism b"-"-’f" () Electoral System rﬂ'dﬂ" (U) Education System ’I.Ei\i'J'H 3
{ When Agra Conference was held between India and Pakistan : dn...f f}'b’ W el Z.M.muw. '''''' (16) """ |
i (A) 1999 (B) 2000  (C) 2001 (D) 2003 :
What is the total number of members of Economic and Social Council 1+ G LI porder] (17) |
- (A) 34 B) 44 (O 54 (D) 64 i
Themm k,ngth uf -~ Mghan hmde”q | e ,ludfﬁ’i_,wa,,_f& (13}
1 LA 2SR, (B) 262Km (O 272Km (D) 2282 Km -
% Whlch one is lhe bl;,;,ust organ of UNO - “ f‘ a../..':'u':“x;.../b’:fr'lil (19] .......
: (A)  Security Council d’{&;zg' (B)  General Assembly FJ= E
:_‘ e @ Trusteeship Council +'J".‘-q)’/ (D) Secrelariat _c.r/; i
: When was O.1. L f1r:t meetmg was held : e ..f lei yb’/ﬁf )Ii'\;uri (20] !
— g o v WY @ am D)1 :
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Note: You have four choices for cach objective type question as A,B,C and D. The choice which you think is

correct; fill that circle in front of that question number in your answer book. Use marker or pen to fill the circles.

Cutting or filling up two or more circles will result no mark.

SECTION-A i.»

D C B A QUESTIONS Q-1
st S | e o~ o nsmdvavt | |
. Economy Efficiency Public Relabon Education What causes soclal im In sport? I
Surd7 Fois Fg Sk e depomdsin i , |
Mors aating Breaking the Quarre| Puncluality What makes |
Law
o 0 ) "y . y L 2% 5.
2kl = AL <2l . e pICLLEN S 2| 4
1 Munite 2 Munites 3 Munits 4 Munites Wl'la limit for the javelin throw?
~
=l & y of etrfaurde| 4 |
f 7 s 4 3 y parts does a javelin consist of?
o ; % PR AT
23785 48770 las e e RO O A0 5
85 cm 70 cm 45 cm 90 How high is the high jump Landing Area?
2&0 PEL PR ” S L3ratShie AU SpISur LA g
10 em 8 ¢cm 8 cm How high should high Uprights be at least above the
crossbar?
1916 1908 #1912 LSBT 2400)  5
L1916 . 1808 L1912 When was the 400meters race included in the Olympic
Games?
S -y Jis ¢ Qb S it e bl in 2400| g
Food Training Exercise What is considered essential at the start of @ 400m race?
280275 | 415¢ 10 45, 40 e br ot §l BN il o] g
751080 % 10015 % 40 to 45 % What percentage of the total body of a typical adult male |
consists of voluntary muscle? |
M - L. ¢ A Ri ' ¢ il
Sl le sl . il tereJdo b (Rickets )b 2¥uts| 10 |
Vitamin D Vitamin C Vitamin B Vitamin A Rickets is caused by the lack of which vitamin?
32 ;-:;22 .4.512 4»202 "d..&‘}blﬂﬁ:—wff 11
2% 22 % 12 % 02 % How much Carbohydrate is In Cocoa?
) i :T_..l ¢ i_.isb U’ f-.u)‘ ?{v ‘-Z‘-t'}n' 4—.&9’%’;}1 ,';‘f. 12
Barbituralas Morplua Smooking Arsenic What drug causes lung cancer?
SHiE 078 SWE RRifL ‘e 43
HEE - HIv HIC HIB What is the name of the AIDS virus?
S IS ¢ Qe 5§ < e bptbe i L AL AL A St g
SOS CBA ABC ABD What is the most important first aid method known as? |
= = WG 4 =G il L, 15
Cardac Muscles | Dermal Muscles Involuntary Voluntary Muscle | What are the muscles of the hear calledl
Muscles
15 210 28 18 te3nd Qe ANl UEN| 46
1&m 10m 28 m 18 m (For Boys) How long is a basketball court?
s A §P § def < byt 5L AT S (Eoh 17
Astro Turf Wooden Mud Concrete (For Boys) On what type of ground is the game of hockey
played?
6.10 #5.10 #4.10 23.10 te S Sl L BB A i AN 1)| 4
6,10 m §510m 410m 3.90m {For Girls) What is the length of lhe combined singles and
doubles courts in Badmunton?
< & sy £, Ve WL a 1l L8 25t M) 47
Let Rd!y Server Receiver Y‘.b#’
{For Girls) How far is the goal post from the goal post in
netball?

2
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Answer briefly any Eight parts from the followings:
How does leadership training help in sports?
Describe four attributes of a good athlate,
Explain physical gevelopment in sports.
How does a good athlele demonstrate independence?

(Only For Boys)
When 1s a goal awarded in a hockey game?
What is meant by time wasting in a hockey game?
When s the penalty comer action completed In hockey?
When is a goal awarded in a hockey game?
Define "Backboards" in Basketball.
Describe the semicircle in basketball.
Define the Basket Ring In Basketball,
Writa down the “Jumpball" tachniqua in basketball.
{Only For Girls}

Describe Badminton Court Shorl Service Gallery,
Wnile two service fouls in badminton,
Writa the length and breadth of a double court in Badminton.
Make a comparission Single and Double play in Badminton.
What 15 meant by "Rally” in Table Tennis?
Write down two duties of Assistant Umpira, @
Explain "Let” in Table Tennis. * &&
Wnte down the measurement of table in Table Tennis.

Answer briefly any Eight parts from the followings: &
How turns determined for players trail in Javelin throw.
Explain the "Landing Area" in Jevelin throw. @
Describe the structure of Jevelin,
Gine two examples of fouls in jevelin throw.
Explain the Portable landing area in High Ju
Descnbe four Rules of High Jump,
Explain the Runway in High jump,
Write a short note on Uprights inghi
Why 400 m called toughest race?
Why Staggers are given in 400 m rece?
From which position the 400 meter starl starts?
Explain the Fimishing of 400 m race,

Answer briefly any Elght parts from the followings:
Explain Small Intastine,
What is meant by Voluntary Muscles,
Write down four benefits of muscles.
Describe the importance of Protein’s nutrition value.
Descnbe four benefits of Vitarmin,
Write down the ingredents of Tea.
Wnte a short note on Morphia,
Explain about the Chancroid,
Explain artificial respiration shorty,

*

2/ = | I ——— o1

Note: Attempt any three questions,
Descnibe in delail the benefits of sports in present area.
Descnbe the fouls of Jevelin in detail,
Write the function fo orgens who participate in Digestive system,
‘What is meant by First Aid? Describe the methods of First Aid in detail,

Write a note of the following, 1,24 Second Rule 2, Field Goal OR
Draw a sketch of Badminton Court with its Dimentions.
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Note: You have four choices for cach objective type question as A.B,C and D. The choice which you think is

correct; fill that circle in front of that question number in your answer book. Use marker or pento fill the circles.

Cutting or filling up two or more circles will result no mark.

Sr# Questions/ = u/+

1. Who was the first Prime Minister of Pakistan:

Lahore Resolution was presented in:

SECTION-A i.»

i

Who is the Head of Federal Govt?

6. | Whois the Chairman of Gilgit Baltistan
Council?

BB IR U s 9
‘. UNOQ passed the human rights declaration

. in: ——— - . - — e —— —_— S—
—e nh/ﬂld__f-"f?-.' JL/:_’:

Duration of Elementary Education:

-n/aly PSP

9. | The Institution is responsible for Cricket at
| International level:

10.

A | C D
L e M
e;fuu ;......u..»— 9 ;Jh;uk =/ L%J;J: Ui a/r’y,'d‘j '
Liagat Ali Khan mmad Al Feroz Khan Muhammad Ali
Noon Bogra
Sl inosng ,:495\&‘ 41940 1945 21950
L{\ 1940 1945 1950
—e by r'f../?;o?és @ ryr{;, 2T Ui"{-;’
ident Prime Minister Governor Chief Minister
iy ,’;sru T§ J=Ai11 S=A12 f=A13 Y=/114
On 11" August On 12% August On 13" August | On 14t August
12 14 16 18
Twelve | Fourteen 1000 Years 1200 Years
o . B
-.....»r,: O r)fuuiguﬂ df/:’._.y; [ If‘ﬂl,:}} i J'_!J;J-.-
' Chief Secretary ] Prime Minister Govemnor Chief Minister
1946 1947 1948 1949
Joet JusT g
Six Years Seven Years EightYears |  NineYears
L inet A dod dudt g
ICC PCB ICB PFF
_ |
--:.\_,IIU'LF/ Iy ‘ el VA0 msnll ._,':._',,JE, ‘
In Multan In Lahore In Sialkot

| Masjid Wazir Khan is situated:

J In Peshawar

)
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Note: Section-B is compulsory. Attempt any two questions from Section-C
SECTION-B (1.~
2. Write Short answers to any SIX parts (6x2=12) -g‘.{/_f..zklﬁ/‘?&lm{c&fz
Prescribe the meaning of Ideology. TS A S i
What is meant by modernism? Vil Pl i e i,
iil.  Whatis the relationship between Islam and Co-existence? O fe FULG ey il
iv. Write any two causes of separation of East Pakistan. () _u'/-.;,r'v._'wlnicﬁf'{w"n"f'u 3> iv.
v. Whois called Federal Minister? s iln v
. TR e
vi. Whatis meant by Sovereignty of Allah Almighty? O Se Ve eledlom Vi
vii. What is the duties of council of common interest? @ ¢ “-z‘v;"{')iu‘;:’-:—‘:v’-f':’ vii.
viii. Describe the difference between municipal ad municipal \\ IR LE K f,g.,gv?;' 7‘,{ viii.
corporation. \ o7 ’
ix. Which duties chief officer performs. \ S PIL ATy X
3. Write Short answers to any SIX parts a(Bx2=12)

4
5

6

*

Prescribe any two Economic rights. SIS AP S S

Which is the Women's rights in | CBVIP L LI5S

When was human right co ormed? p-tfiz_rr?gf.-”‘_.;‘f'i_j,vdul
What is the concept of Education? PTG
Write the names of modes of Education. i 'L»..’__,I,-E.',».‘u_’.»;ﬂj,y
Prescribed two challenges to education in Pakistan. A o

LUk e s .
What is the present status of Hockey in Pakistan? Ce b isn fffu'i.'i.;&'";
Write two problems faced by tourism in Pakistan _u:/i_‘.nr_vfp,”v?'.‘,”f___’_,r_,!{vc:pl

What is the treatment of Dengue Fever? ¢ e VT kxS

LA BL Iy -y o
SECTION-C EACH QUESTION CARRIES 08 MARKS

Write basic principles of Islamic Welfare State. I I L e G S
Describe the administrative structure of Gilgit Baltistan. TS eSS

How to promote tourism in Pakistan? Discuss in detail. S Lol ot o forll

E e L mge 93

i,
il
ii.
v,
V.
Vi
vii.

viii.
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Note! You have four choices for each objective type question as A,B,C and D. The choice which you think is

correct; fill that circle in front of that question number in your answer book. Use ma

Cutting or filling up two or more circles will result no mark.

address in:

O

SECTION-A J,r.»()

rpen to fill the circles.

2>

S ] N <
Questions/ = v/~ [ A B C D
o IT xS G 39 i 21937 2.1940 1942
Allama lgbal delivered his famous Allahabad In \ In 1937 In 1940 In 1942
5 ey ;";_J?.ﬁ. g 46 ~-1947 ~-1948 U-:1949
" | State Bank of Pakistan was established: +In1946 In 1947 In 1948 In 1949
_:__f % ! O T =
In the north of Pakistan is locate Iran China Afghanistan Tajikstan
i g v-1980 J~»1981 J~-1982 1979
" Zakatand Ushr system was e . In1980 In 1981 In 1982 In 1979
5 _g_t',';'sr'/_“’{.:‘/:‘;jﬁ! I A2 _}"{J! ;4!’ ;_I,!I‘lj_b
" Who is the Head of Federal Govt? President Prime Minister Governor Chief Minister
-‘f-u:.;’&-’a... (o714 ._,’:UI'} fa'/ J'Xr ;{:l_;" J‘ﬁ-;’l
First translation of Holy Quran was made in: Saraiki Sindhi Punjabi . Kashmiri
i
7 -.LC’:IJ;,'LE...";_L;’{ prll o sl Jial-
" Majid Mahabat Khan is situated in: Peshawar Multan Lahore [ Sahiwal
8 - :‘x..':/h,__a:.’.’b'.-b:l Sl JW'/:" .).!é J/Jﬂ"
"~ Anexample of national unity, the state is: Islamic Non Islamic Secular Presidential
VB il is £ 42010 52013 42015 42016
Women Protection Act in Punjab was passed In2010 In2013 In2015 In2016
in; |
: wseeel o ]
Inls 7 Juéy P | J4+1960 1970 i (<1965 ~-1975
Third five years plan was launched: In 1960 In1970 ! In 1965 In1975
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Note: Section-B is compulsory. Attempt any two questions from Section-C

SECTION-B (1o

2. Write Short answers to any SIX parts (6x2=12) -é.ff . wﬁ"ém,;;.J/z
Write any two proposals of Crips Mission. W rias SIEA RS i
. Write the names of two books of Sir Syed Ahmad Khan. 0 -éf,;rt‘i-vw"nd/dﬁilz-—/ ii.

i, Mention two important countries located in the north west of -é/}'rcLJL/ﬁlufuurJ?-_’..-,'Lﬂl ii.
Pakistan. T ¥
iv.  Silk Route is located between which two countries.

O -gglsg'?n(:..f'fug"ﬂ;',qlf iv.
v.  Describe two administration problems which Pakistan faced, @' L e e S S V.
vi.  Why did the state of Junagarh not join India? 0\&\

vii.  Write down two duties of citizens. L7 F s e A Vil

Vi Write two functions of Majlis-e-Shura ®\ N F L Vil

-

2 i T . N i
Wl WAL i ws bR, vi.

ix. Differentiate Federal Minister with Minister of

3. Write Short answers to any SIX (6x2=12)

“E ez Langa 53

What is meant by Indus valley? S i) P\ m i S

i, Who was SirJohn Marshal? t@ iAo -
iii.  State the third period of Kashmiri Language. _E ot Aig il
iv.  Write names of two poets of Balochi language. Al afnlgugs WV
v.  Whydemocracy is essential? e Ul ribecnt V.
vi. Write down the names of two important exports of Pakistan. _d*f‘c;'.;i*l'.f,.f:::\}'@-;"'. vi.
vii.  Which type of virus causes “Dengue Fever”. AP s el Soa Vil
viii.  What are the duties of Ministry of Foreign Affairs? S Gt P s ks Vil
ix.  Whatis meant by National Security? S Fdl X
-
LABLIy -y 2
SECTION-C EACH QUESTION CARRIES 08 MARKS
4 Describe the importance of Pakistan with respect to its location Eealth S Lot 8
5 Explain the characteristics which are necessary for a good S ribaler S d Lok Bl S

governance
6 Describe the significance of Economic Planning. Ehesls G b






